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Question Id : 87827029711 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the percentage (%) distribution of six different types of expenditure,
namely, Salary (), Infrastructure (I), Transportation (T), Bonus (BO), Raw Material (R) and
Miscellaneous (M) of three companies A, B and C during a given year. Total expenditure of

company A, B and C are 3 80 lakh, T 90 lakh and ¥ 75 lakh, respectively. Based on the data in the
table, answer the questions that follow :

Company-wise percentage (%) distribution of Expenditure

Type of Expenditure
—
Gt l 5 I i BO | R M
A 4% | 18% | 15% | 10% | 14% | 19%
B 27% | 15% | 14% | 25% | 9% | 10%
0 2% | 24% | 16% | 19% | 8% | 12%




Sub questions

Question Number : 1 Question Id : 87827029712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the difference between the expenditure of Company-A on salary and the expenditure of
Company-B on Raw Material ?

(1) 9.6 lakh

2) T1L1 lakh
) ¥124 lakh
)

3
4) T 134 lakh

(
(
(
Options :

878270117041. 1
878270117042. 2
878270117043. 3

878270117044. 4

Question Number : 2 Question Id : 87827029713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The expenditure of Company C on salary is approximately % of the expenditure of
Company A on Transportation.

(1) 76.2%

(2) 96%

(3) 125%

(4) 131%

Options:

878270117045. 1
878270117046. 2
878270117047. 3
878270117048. 4



Question Number : 3 Question Id : 87827029714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What 1is the average expﬂncliture of the three companies on Infrastructure ?
(1) 122 lakh

(2) T 15.3 lakh

(3) T 164 lakh

(4) T 175 lakh

Options :

878270117049. 1

878270117050. 2

878270117051. 3

878270117052. 4

Question Number : 4 Question Id : 87827029715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the expenditute of Company A on Infrastructure to the expenditure of
Company B on Transportation ?
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Options :

878270117053. 1
878270117054. 2
878270117055. 3

878270117056. 4



Question Number : 5 Question Id : 87827029716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The ex pendilure of Companv Con Infrastructure 1s
of Company A on Bonus.

% more or less than the expundilure

(1) 80
(2) 100
(3) 125
(4) 150
Options :

878270117057. 1
878270117058. 2
878270117059. 3

878270117060. 4

Question Id : 87827029711 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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A W% | 18% | 15% | 10% | 1% | 19%
B 7% | 15% | % | 5% | 9% | 10%
C 0% | 4% | 16% | 19% | 8% | 12%

Sub questions

Question Number : 1 Question Id : 87827029712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

FIH-A F A7 T G AR FUA-B % F= HIel W A & 9rg T S €2

(1) 9.6 @E &R

2) 111 7@E TH

(3) 124 7@ T

(4) 134 7@ T
Options :

878270117041. 1
878270117042. 2
878270117043. 3

878270117044. 4

Question Number : 2 Question Id : 87827029713 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

UAI-C I ot T FY HUA-A F GEed T e %%
(1) 76.2%
(2) 96%
(3) 125%
4) 131%
Options :

878270117045. 1
878270117046. 2
878270117047. 3

878270117048. 4

Question Number : 3 Question Id : 87827029714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

=1 safTal 1 e 9 SiHd =@ faaa € 2

(1) 122 /@ ¥9

(2) 15.3 @R T

(3) 16.4 @ T9

(4) 175 @E ¥
Options :

878270117049. 1
878270117050. 2
878270117051. 3

878270117052. 4

Question Number : 4 Question Id : 87827029715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

FOA Ak STIGTET W SE 3R FA B & ufEed W S &1 S foha § 7

(1) 5:4
2) 6:5
3) 7:6
4 8:7

Options :

878270117053. 1
878270117054. 2
878270117055. 3
878270117056. 4

Question Number : 5 Question Id : 87827029716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
HA C ] ST T FA A F G T AT § % 1feeh 71 F9 ¢ 7
(1) 80
(2
(3) 125
(4)
Options:
878270117057. 1
878270117058. 2
878270117059. 3

878270117060. 4

Sub-Section Number : 2
Sub-Section Id : 8782701276
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Question Number : 6 Question Id : 87827029717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Swayamprabha courses are broadcasted on TV.
Statement (II) : Moocs are only available in English.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement Il are incorrect

4)  Statement I 1s mcorrect but Statement Il is correct

2

(3) Statement I is correct but Statement II is incorrect
g

Options :

878270117061. 1

878270117062. 2

878270117063. 3

878270117064. 4

Question Number : 6 Question Id : 87827029717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270117061. 1
878270117062. 2
878270117063. 3

878270117064. 4

Question Number : 7 Question Id : 87827029718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - 11
(Types of Evaluation) (Their Functions)
(A) Placement Evaluation () To monitor the learning progress of students during the

course of instructions

(B) Formative Evaluation (I)  To know the underlying cause of weaknesses in students’
learning

(C) Summative Evaluation ~ (II) To know entry behaviour

(D) Diagnostic Evaluation (IV) To certify the learner at the end of a course or an academic
year or programme

Choose the correct answer from the options given below :

(1) (A, B)-(H), 1), D-1V)

(@) (AR, (B}(I), (CH(Im), (D)-(IV)
() (AHLV), (BI1), (CH{I), (DA
(4) (AR, (BH1), (CH(1V), (DK()



Options :

878270117065. 1
878270117066. 2
878270117067. 3

878270117068. 4

Question Number : 7 Question Id : 87827029718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (AHI), (B}, (C-(0), (DHIV)
(@) (AHI), (B)-(I), (CHII), (D)-IV)
() (AHIV), (B){L), (CHIL), (DHII)
(4)  (A){I), (B)-(0), (C-(IV), (D}
Options:

878270117065. 1
878270117066. 2
878270117067. 3

878270117068. 4

Question Number : 8 Question Id : 87827029719 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Research suggests that a majority of students cheat at some points in their academic career, Which
one of the following is not a recommendation to reduce cheating in the classroom ?

(I) Encourage collaboration with peers on assignments to provide necessary support and decrease
anxiety.

(2) Reduce the focus on grades, and provide the material for students with which they must be
familiar.

(3) Clear guidelines on what constitutes cheating accompanied by consequences that, when
imposed, will deter other students due to their severity.

(4)  Ensure students are well prepared for assignments and tests.
Options :

878270117069. 1

878270117070. 2

878270117071. 3

878270117072. 4

Question Number : 8 Question Id : 87827029719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270117069. 1

878270117070. 2



878270117071. 3
878270117072. 4

Question Number : 9 Question Id : 87827029720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) :  Adolescents tend to be highly seli-aware and have a clear sense of their identity.

Statement (II) : Adolescents tend to develop ability to see relationships and to solve problems of
increasing complexity and difficulty.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect
) Statement I is correct but Statement Il is incorrect

(
(3
(4)  Statement I is incorrect but Statement I is correct
Options :

878270117073. 1

878270117074. 2

878270117075. 3

878270117076. 4

Question Number : 9 Question Id : 87827029720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270117073. 1

878270117074. 2

878270117075. 3

878270117076. 4

Question Number : 10 Question Id : 87827029721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is a basic requirement for effective teaching ?
(1) Ignoring individual differences among students
(2) Adequate resources and technology

(3) Use of traditional teaching methods

(4) Rigid adherence to curriculum guidelines
Options :

878270117077. 1

878270117078. 2

878270117079. 3

878270117080. 4

Question Number : 10 Question Id : 87827029721 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270117077. 1
878270117078. 2
878270117079. 3

878270117080. 4

Question Number : 11 Question Id : 87827029722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If you want to understand the theoretical reasons that led researchers to conduct a study, you
would read which section of their article ?

(1) Abstract

(2) Introduction

(3) Discussion

(4)  Methodology

Options:

878270117081. 1

878270117082. 2

878270117083. 3

878270117084. 4

Question Number : 11 Question Id : 87827029722 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270117081. 1
878270117082. 2
878270117083. 3

878270117084. 4

Question Number : 12 Question Id : 87827029723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The tendency of researchers to subtly and inadvertently affect the behaviours of participants in a
study, obscuring the true effect of the independent variable, refers to :
(1) Hawthorne Effect

(2)  Biosocial Effect
(3)  Experimental Bias
(4) Participant Bias

Options:

878270117085. 1
878270117086. 2
878270117087. 3

878270117088. 4



Question Number : 12 Question Id : 87827029723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270117085. 1
878270117086. 2
878270117087.3

878270117088. 4

Question Number : 13 Question Id : 87827029724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A research design in which either the investigator or the participant is not aware of the treatment
a parﬁcipanl 15 1'eceivmg, refers to :

(I) Single Blind Study

(2)  Half Blind Study

(3) Double Blind Study

(4) Longitudinal Study

Options :

878270117089. 1

878270117090. 2

878270117091. 3

878270117092. 4



Question Number : 13 Question Id : 87827029724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270117089. 1
878270117090. 2
878270117091. 3

878270117092. 4

Question Number : 14 Question Id : 87827029725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a positively skewed distribution, which among the following would be true ?
(A) Mean > Mode
B) Mode > Median
) Mean > Median
D) Mode > Mean
E) Median > Mean

Choose the correct answer from the Dptiuns given below :

(
(
(
(

(1) (B) and (D) Only
(2) (A)and (C) Only
(3) (A)and (B) Only
(4) (D) and (E) Only



Options :

878270117093. 1
878270117094. 2
878270117095. 3

878270117096. 4

Question Number : 14 Question Id : 87827029725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
eTeeh farom faavo o, ffafad § 9 sH-91 9€1 8 ?
(A) WA > Sgaish
(B) WETTH > HifEAHI
(C) A > Hifegh
(D) dgeish > HIEA
(E) Wfeeht > W&
= Teu 7T forredi § | W& AT 1 A Hifel:
(1) %A (B) 3R (D)

() FE (A) R (O)

(3) A (A) SR (B)

(4) = (D) ¥R (E)

Options:

878270117093. 1

878270117094. 2

878270117095. 3

878270117096. 4

Question Number : 15 Question Id : 87827029726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

A researcher computes sample correlation coefficients r;, 1, r; and 1, from four different samples
and obtains 0.97, 0.95, 0.10 and 0.03, respectively, as their p-values, The correlation coefficient
significant at 5% level is :

0

@ 1
B 1
(4) Iy
Options :

878270117097. 1
878270117098. 2
878270117099. 3

878270117100. 4

Question Number : 15 Question Id : 87827029726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

T SFTHYFRRA R Sem- e Yieen 9 vfoes) Hewesl 1o rl,rz,rgaﬂuﬁmm% 9 3T

p-HT SF: 097, 0,95, 0.10 3R 0,03 1 1 1 3 17 1 Fga 00 5% T R H &7

(1) 1
2 1,
) 1
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Options :

878270117097. 1
878270117098. 2
878270117099. 3

878270117100. 4

Question Number : 16 Question Id : 87827029727 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When individuals post journal-like entries on the Internet, they are known as :
(1) Advisory Columns

(2) Net Opinions
(3) Weblogs

(4) Digital Stories
Options :

878270117101. 1
878270117102. 2
878270117103. 3

878270117104. 4

Question Number : 16 Question Id : 87827029727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270117101. 1
878270117102. 2
878270117103. 3

878270117104. 4

Question Number : 17 Question Id : 87827029728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

An implicit message within a message is technically referred to as:
(1) Hidden Message

(2) Intrinsic Message

(3) Non-expressive Message

(4) Sub-text

Options :

878270117105. 1

878270117106. 2

878270117107. 3

878270117108. 4

Question Number : 17 Question Id : 87827029728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Tt aw # erafifed Hew =1 aeial gfte @ Fe o1
(1) 3T (Y=91) Ha¥l

(2) SF<IYd H
(3) STAfYESTe Hewr
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Options :

878270117105. 1
878270117106. 2
878270117107. 3

878270117108. 4

Question Number : 18 Question Id : 87827029729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following constitute the selectivity process in mass communication ?
(A) Selective suppression

(B) Selective attention

(C) Selective perception

(D) Selective retention

(E) Selective ignorance

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

) () () and (D) Only

(3) (©), (D) and (E) Only

@) (A), (D) and (E) Only

Options:

878270117109. 1

878270117110. 2

878270117111. 3

878270117112. 4

Question Number : 18 Question Id : 87827029729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270117109. 1
878270117110. 2
878270117111.3

878270117112. 4

Question Number : 19 Question Id : 87827029730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  Under the framework of communication, political socialisation is related to social
learning in terms of how power is acquired.

Statement (II) : Marginalisation is the basis of political socialisation.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

2) Both Statement I and Statement II are incorrect

4

2
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:

878270117113. 1
878270117114. 2
878270117115.3

878270117116. 4

Question Number : 19 Question Id : 87827029730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 9 FH R E:

TR (1) TR F TG F ST T Qe T Wi o Hed § i afer ¥ gef
el

R (1) : SR TEAH TR 1 R & |

T Ho o e H, el fow T e H 4 W S 7

(1) R 13 e 1 3 9 &

() YR 1 3R R 11 G e §

(3) R 1T ¢, ©ife e 11 79

(4) IR A ¢, A B 1T ©

Options:

878270117113. 1
878270117114. 2
878270117115.3

878270117116. 4

Question Number : 20 Question Id : 87827029731 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) :  Media audiences are increasingly active in their communication with each other.,

Statement (II) : Media audiences are also active in communication with creators of mass
communication contents.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(

4)  Statement I is incorrect but Statement II is correct
Options :
878270117117.1

878270117118. 2

:No



878270117119. 3

878270117120. 4

Question Number : 20 Question Id : 87827029731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 4 Fo e M g

T (1) :  SHEER I o ATk (AIATTO) T G o 19 S HU H S Hioh @ &
O (1) : TR WAW o SR THEAR o o Yok o W FYum o of 5o @ €
IR A % el 8, Al fou U fosed o § e S 9 A

oA | R R 1 A1 9 &

T 1 IR A 11 11 979 §

T | 9 8, T he 11 370 ©

e | 970 &, SR e 11 9 §

1
2
3

(
(
(
(4

)
)
)
)
Options :

878270117117.1
878270117118. 2

878270117119. 3

878270117120. 4

Question Number : 21 Question Id : 87827029732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What number would replace question mark (?) in the series given below ?
31,37, 41, 43, 47, 53, ?, 61

(1) 58
(2) 57
(3) 59
@) 56



Options :

878270117121. 1
878270117122. 2
878270117123.3

878270117124. 4

Question Number : 21 Question Id : 87827029732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= &1 T el W yeAarEss {0 (?) F E-9 g Fiaeenfud ol ?
31, 37, 41, 43, 47, 53, ?, 61

(1) 58
(2) 57
(3) 59
(4) 56

Options:

878270117121. 1
878270117122. 2
878270117123. 3

878270117124. 4

Question Number : 22 Question Id : 87827029733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A milkman has a mixture of milk in which the ratio of milk and water is 7 : 4. He sells 55 litres of
this mixture and then adds up 20 litres of pure water. Now the ratio of milkand wateris 7: 6. Find
the new quantity of this mixture,

(1) 70 litres

(2) 195 litres

(3) 130 litres

(4) 210 litres

=

Options:

878270117125. 1
878270117126. 2
878270117127.3
878270117128. 4

Question Number : 22 Question Id : 87827029733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T GYATe o T g o i & fore g o Rl o 9T 724 %1 o 3 fem @ 55 A g € o
3 from % 20 et g R foreien €1 o7 g g SR O A SR 726 2 9 €1 39 fem
A 7 T |
(1) 70T
(2) 19 @&
(3) 130 e
(4) 210 &=
Options :
878270117125. 1
878270117126. 2
878270117127. 3

878270117128. 4

Question Number : 23 Question Id : 87827029734 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A sum of money at simple rate of interest becomes Rs. 2016 in 4 years and Rs. 2286 in 9 years,
What i the principal amount ?

(1) 1800

Q) T 1700

(3) ¥ 1900

(4) T 1850
Options :
878270117129. 1
878270117130. 2
878270117131. 3

878270117132. 4

Question Number : 23 Question Id : 87827029734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T ST FT AT 6 W 490 W F, 2016 2 S ¢ S 97 6 % 2286 8 A & | AR A €7
(1) % 1800

) F 1700
3) % 190
) % 1850

|

(
(
(4
Options :

878270117129. 1
878270117130. 2
878270117131.3

878270117132. 4

Question Number : 24 Question Id : 87827029735 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A salesman travels from Delhi to Ambala at 30 km/h and returns at 90 km/h. If the total time
taken is 8 hours, find the total distance covered by him.

(1) 480 km
(2) 240 km
(3) 360 km
(4) 280 km

=y

Options :

878270117133. 1
878270117134. 2
878270117135. 3

878270117136. 4

Question Number : 24 Question Id : 87827029735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e feghert (FiA) 30 Tt ofe sie o) fe @ feeedt & omvaren ot o & € & 90 fored ofe e 4 fa
B Y S & A A F F a8 5 € @ S 5 @ F T F g T
(1) 480 foFmt
(2) 240 formt
(3) 360 foFmt
(4) 280 ferelt
Options :
878270117133. 1
878270117134. 2
878270117135. 3

878270117136. 4

Question Number : 25 Question Id : 87827029736 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :
(a) ‘tee see pee’ means “drink fruit juice’
(b)

(c) ‘lee ree mee’ means ‘he is intelligent’

‘see kee lee” means "juice is sweet’

Which word in this language means ‘sweet’ ?

(1) ‘pee
(2) ‘kee’
(3) ‘lee’
(4) ‘mee’

Options :

878270117137. 1
878270117138. 2
878270117139. 3

878270117140. 4

Question Number : 25 Question Id : 87827029736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7ad e 9 H

(@) ‘S H ' w Hd § EE Fe 5
(b) ‘Tt = oY Ty T Wi
(c) ‘oft & i’ o ared ® ‘€ T Sefersie’
=H 9 | TR 918 o HY ‘wEe’ § 7

1
(2)
(3)
(4)

Options:



878270117137. 1
878270117138. 2
878270117139. 3

878270117140. 4

Question Number : 26 Question Id : 87827029737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name the fallacy committed in the following argument :
“All Russians were revolutionists.

All Anarchists were revolutionists.

Therefore, all Anarchists were Russians.”

(A) Fallacy of four terms

(B) Fallacy of illicit process

(C) Fallacy of undistributed middle

(D) Fallacy of exclusive premises

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) Only

4) (C) and (D) Only

Options :
878270117141. 1
878270117142. 2

878270117143. 3
878270117144. 4

Question Number : 26 Question Id : 87827029737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



freAfafea o o fFan 7 qehem aareu |
“|uft w1 wifaRRl 9|
Tl SRS AArG! shifdehRl o |
29 foru g4ff srstehamEner w461 91"
(A) =R Y& I T
(B) =T Ufshan 1 dEhe
(C) wifeafa Aea o1 Toha
(D) SHad STUREE! Fl Tha
i< feu U foekedi § 9 W 39 1 999 HiTa;
(1) A (A) 3R (B)

(2) e (B) 3R ()
(3) e (Q)

(4) FaA (C) 3 (D)
Options:

878270117141. 1
878270117142. 2
878270117143. 3

878270117144. 4

Question Number : 27 Question Id : 87827029738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the light of concept of “Terms” which of the following is incorrect ?
(A) The set of attributes shared by all and only those objects to which a general term refers is
called intension.

(B) Every general term has both an intensional and extensional meaning,
(C) The extension of a term determines its intension.

(D) Terms may have different intensions but have the same extension.
Choose the correct answer from the options given below :

(I) (B) and (D) Only
(2) (A)and (B) Only
(3 (B) Only

() (C) Only
Options:
878270117145. 1
878270117146. 2
878270117147. 3

878270117148. 4

Question Number : 27 Question Id : 87827029738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" ) R 3 el 3 Frefetan § 9 BT A §

(A) T TR Y § foes o0 o S AR e 3 e ) 9 e e o el e
& o T SR

(B) e WA G 3 TOMeee i s afee, ) ard 2 €|

() W A T 39 T F A g

(D) W1 % fort o0l 2 el € g oY TR 40 €

A1 fow o foedl o 4 WE S 91 7 o



Options :

878270117145. 1
878270117146. 2
878270117147. 3

878270117148. 4

Question Number : 28 Question Id : 87827029739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ina square of opposition of propositions which of the [nllnwmg is correct ?

(1) It Ais given as false; O is undetermined
(2) IfEis given as false; [ is false
(3) If Lis given as false; A is false
(4) It Ois given as false; E is true

Options:

878270117149. 1
878270117150. 2
878270117151.3

878270117152. 4

Question Number : 28 Question Id : 87827029739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

gfarfead < faue @ o o, ffofed § wH-91 98 872
(1) afg A =1 e FamE T 7 O A €

(2) dfeE 1 Ter =G T E; e €

(3) =g 13T TTeTa ST T A e €

(4) afeO 1 TTeTd FARI T E; E ORI B

Options :



878270117149. 1
878270117150. 2
878270117151. 3

878270117152. 4

Question Number : 29 Question Id : 87827029740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of Anumana (Inference), the presence of the middle term in the minor term is
called :

(1) Paramarsha

(2) Vyapti
(3) Paksadharmata
(4) Paksa
Options :

878270117153. 1
878270117154. 2
878270117155. 3

878270117156. 4

Question Number : 29 Question Id : 87827029740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

SFTAA (FTRE) % T | 701 9 H HeF U2 i Sufefd 1 Fel I ¢

(1) o
(2) =
(3)  TeTEH
(4) U

Options :



878270117153. 1
878270117154. 2
878270117155. 3

878270117156. 4

Question Number : 30 Question Id : 87827029741 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is incorrect in the light of Inductive Argument ?
(A) If the premises are true then the conclusion is probably true.

(B)  The conclusion follows probably from the premises.

(C) Itis unlikely for the premises to be true and the conclusion false.

(D) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A) and (B) Only
(2) (B) and (C) Only
(3) (C) and (D) Only
() () Only
Options :
878270117157. 1
878270117158. 2
878270117159. 3

878270117160. 4

No

Question Number : 30 Question Id : 87827029741 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



AT i & 2edish # fefafas § 9 98 98 2
(A) Afg SHR 919 Fel & af fepy Hyrega: 9el 2l @ |

(B) TA=hd Herfasr &9 | MR IRl 1 STTIEH Fd © |
(C) 3! T el § fof SR o et 81 i freed wrera 21
(D) =% 375y T fof |efi o 9/ 9@ @ iR Frend e 2 |
e fou T foeshedi § & W& SO A 997 Hifou;

(1) I (A) 3R (B)

(2) %9 (B) 3R (C)

(3) %9 (C) ¥R (D)

(4) %99 (D)

Options :

878270117157. 1

878270117158. 2

878270117159. 3

878270117160. 4

Question Number : 31 Question Id : 87827029742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the fn]lnwing pair of acronyms and its expansion are incorrectly matched ?

1) LAN - Local Area Network

(

(2) MAN - Metropolitan Area Network
(3) WAN - Wide Area Network

(4) VPN - Virtual Personal Network
Options:

878270117161. 1
878270117162. 2
878270117163. 3

878270117164. 4



Question Number : 31 Question Id : 87827029742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frafafad ® 9 PH-T1 wftal (I6e) iR 39 T 9 &l 9 & gHfea Tl ¢ 7

(1) LAN - dd U Teaw

() MAN - WZmifeed T 4eeh

(3) WAN - ase o ek

(4) VPN - Y3l THAA 2o
Options :

878270117161. 1
878270117162. 2
878270117163. 3

878270117164. 4

Question Number : 32 Question Id : 87827029743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Statement (1) : (499),, = (L11110011),
Statement (I : (1011101), = (%3),,

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are correct

2
(3
(

) Both Statement I and Statement II are incorrect
3) Statement | is correct but Statement I is incorrect
)

4) Statement I is incorrect but Statement II is correct
Options :

878270117165. 1

878270117166. 2

878270117167. 3

878270117168. 4



Question Number : 32 Question Id : 87827029743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
FA (I): (499),, = (111110011),
FHYF (I1) : (1011101), = (93),,
IRIE FYA 6 e H, A o 7 fowedi # | w39 7297 Hifau;
(1) AR FBITNIT TAT
2) YT R HUA 11 I A T
(3) YT HA B, Al HAT I 6 B
(4) R IEA B, Wl AT A B

Options :

878270117165. 1
878270117166. 2
878270117167. 3
878270117168. 4

Question Number : 33 Question Id : 87827029744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Statement (I) : 3D Printers are primarily used in CAD,
Statement (II) : OLEDs require some form of back-lighting so that the screen can be Lit up.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2)  Both Statement I and Statement II are incorrect
3) Statement I is correct but Statement II is incorrect
4)  Statement I is incorrect but Statement II is correct

(
(
(

Options:



878270117169. 1
878270117170. 2
878270117171.3

878270117172. 4

Question Number : 33 Question Id : 87827029744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T (1) 53 fied We: S ¥ swam e o 2

T (1) NS B F3 TR F1 TH-CEICN ] ST B0 ¢ e T ) JRIG Fo2 1
SR 9 & e ¥, e U T s § 9 e SR 9 Fi

(1) IR FAT I T &

() U1 SR R 11 S o R

(3) R 15 ¢, Cife e 11 e ©

(4) O] A &, Wil FO I HA &

Options :

878270117169. 1
878270117170. 2
878270117171.3

878270117172. 4

Question Number : 34 Question Id : 87827029745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements relevant to the trends in modern information technology is/are

correct ?

(A) In traditional computing, data is represented in binary digits while in quantum computing,
data is represented in quantum bits or qubits.

(B) A wearable device capable of activity tracking that measures data such as the number of
steps walked and heart rate is an example of WiMAX,

(C) A collection of nodes capable of environmental sensing, local computation, and
communication with its peers or with other high performance nodes is called a Geographic
[nformation System (GIS).

Choose the correct answer from the options given below :

(1) (A) Only

(2) (B) Only
(3) (A)and (€) Only
(4) (B)and (C) Only
Options :

878270117173. 1
878270117174. 2
878270117175. 3

878270117176. 4

Question Number : 34 Question Id : 87827029745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e e i o vt o iy o fomfeim o @ 99 WA e e R

(A) S Frgfem ¥ e aedt fefrem 2w o ¢ it Foen Ffen 6 SR e foeg
o ¥ e < €|

(B)  Fifefe o1 W1 A W e, 2191 H e <N W v 4fe (e W R O e 1 T
7 1 T A I S F A ¢, 98 AR (WIMAX) H T 3 & |

(C) I8 1§ S0 Ve Hole, Tlehet ALY S ST Gy A1 47 T UG el A1gd
Y FER T W W 1 €, S S SR e (o) e o6 g

Options :

878270117173. 1
878270117174. 2
878270117175.3

878270117176. 4

Question Number : 35 Question Id : 87827029746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(Cyber Attack) (Description)
(A) Spyware (I)  Sending an email to lure users to fake website to obtain their
personal detals
(B) Phishing (I)  Downloading of malicious code to redirect users to fake website
to obtain their personal details
(C) Ransomware (IT) Keylogger used to record key presses and sending them to third
party
(D) Pharming (IV) Holding hostage a user’s data, often for a release fee

Choose the correct answer from the options giuen below :

(1) (A, (BHI). (CHIV), (DKI)

@ (A, BH, (1Y), DHII)
B (AM1), (BH), (OHIV), (DK
() (M), (BHIY), (K1), (D)1

Options :

878270117177.1
878270117178. 2
878270117179. 3

878270117180. 4

Question Number : 35 Question Id : 87827029746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el & eI 1 fier Fif;

Tl T
(TR ) (foamm)
(A) ETER () v (7o) #1 SR SFER T F S e
oIE T 2 SHT 0 6 fot et 5
(B) ferfeim () 759 1 AT TR TG F & U 3¢ Tl domEe W
TR A g T 3G § 961 T HE H SAAE F
(C) T (1) ‘=" S o e e o 3 v v o) S o ferw 3w foran
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(1) (AL, (B)-{1), (CHIV), DH)

) (AR, B, (©-IV), (D)

A, (BHI), (O-1V), (D)
{

2
(3
() (A, B)-1V), (CD), (DHI)

(
) (A)
) (A)
Options:
878270117177. 1
878270117178. 2
878270117179. 3

878270117180. 4

Question Number : 36 Question Id : 87827029747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is an essential requirement for the formation of photochemical smog ?
(I) Water vapour

(2) Sunlight

(3) High temperature

(4)  Snow

Options :



878270117181. 1
878270117182. 2
878270117183. 3

878270117184. 4

Question Number : 36 Question Id : 87827029747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR T HW-hied & i &g frefafes § eF-ar smevas €2

(2) I YHW
(3) = d9YHHA
(4) T
Options :

878270117181. 1
878270117182. 2
878270117183. 3

878270117184. 4

Question Number : 37 Question Id : 87827029748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following elements is fissile ?
(1) Thorium - 232

(2) Plutonium - 239

(3) Uranium - 237

(4) Uranium - 238

Options :

878270117185. 1



878270117186. 2
878270117187. 3

878270117188. 4

Question Number : 37 Question Id : 87827029748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270117185. 1
878270117186. 2
878270117187.3

878270117188. 4

Question Number : 38 Question Id : 87827029749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sick Building Syndrome (SBS) is caused due to :
(1) Aging of the building

(2) Contaminated indoor air

(3)

(4) Presence of building in a landslide prone area

Contaminated water supply in the building

=

Options:
878270117189. 1
878270117190. 2



878270117191. 3

878270117192. 4

Question Number : 38 Question Id : 87827029749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T fafedn fagm (vastug.) foas wro g & ?
(1) 9& 1 S0/ &R0

(2) fo sftedl e

(3) wEA ¥ gfua sta @t eyfd

(4) EEST YA &7 | WA H el

Options :

878270117189. 1

878270117190. 2

878270117191. 3

878270117192. 4

Question Number : 39 Question Id : 87827029750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the correct increasing order of Global Warming Potential (GWP) of following gases ?
(A) Nitrous Oxide (N,O)

(B) Carbon dioxide (CO,)

(C) Methane (CH,)

(D) Chlorofluoro Carbon (CFC)

Choose the correct answer from the options given below :

() (@), @) © D)
2 (D)
() (

( (

2

Options:

878270117193. 1
878270117194. 2
878270117195. 3

878270117196. 4

Question Number : 39 Question Id : 87827029750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frmfetfed 7t i aftas @ veuma (i gseg 1) 1 Tet SRR F0 FA-T1E 7
(A) e SRR (N,0)
(B) I TEHAHES (CO,)
(C) A (CH,)
(D) SR e (CFC)
A fou U foshedl H | W& 9L 1 TG iU
(1) (&), 6), Q) D)

(2 (A) (©), (B) (D)
@) (B), (4), (C) (D)
4) () (O) (A) (D)
Options :

878270117193. 1



878270117194. 2
878270117195. 3

878270117196. 4

Question Number : 40 Question Id : 87827029751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the limit of water availability for a region to be classified as water scarce region ?

(1) Less than 2500 m?/ person/ year

(2) Less than 2000 m’/ person/year

(3) Less than 1500 m®/ person/year

(4) Less than 1000 m’/ person/year
Options:

878270117197. 1
878270117198. 2
878270117199. 3

878270117200. 4

Question Number : 40 Question Id : 87827029751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A~ & % 9§ afigha & § STl Suetear i i @ wd € 2
(1) 2500 He® yfd =Afea ufd a9 9 &H

(2) 2000 HreP wfaq =af gfq 3d | #H
(3) 1500 HreP Wi =afe ufd ad | #H
(4) 1000 He© yfd =Afed fd a9 ¥ A
Options:

878270117197. 1

878270117198. 2



878270117199. 3

878270117200. 4

Question Number : 41 Question Id : 87827029752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  According to NEP 2020, one of the verticals of Higher Education Commission of
India (HECI), General Education Council (GEC) will be responsible for
accreditation of Higher Education Institutions (HEIs)

Statement (II) : According to NEP 2020, through a suitable system of graded accreditation and
graded autonomy, and in a phased manner over a period of 15 years, all HEs in
India will aim to become independent self-governing institutions.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement I are incorrect
(3)  Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

878270117201.1

878270117202. 2

878270117203. 3

878270117204. 4

Question Number : 41 Question Id : 87827029752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) FFIIRFIR TA 2

(2) YR 1 3 R 11 G 5 &

(3) O ITA ¢, TR HOF 1 A €

(4) U1 A B, A FT T &

Options:

878270117201. 1
878270117202. 2
878270117203. 3

878270117204. 4

Question Number : 42 Question Id : 87827029753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the preamble of the Indian Constitution which of the following value is not stated ?
(1)  Justice
(2) Equality
(3) Courage
(4) Liberty
Options :
878270117205. 1
878270117206. 2
878270117207. 3

878270117208. 4



Question Number : 42 Question Id : 87827029753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR T 1 yere § fefafad § #0-9 900 #1 I T R e ?

(1) =4
(2) HHMA
(3) HEH
(4) @I
Options :

878270117205. 1
878270117206. 2
878270117207. 3
878270117208. 4

Question Number : 43 Question Id : 87827029754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Government of India constituted a Uni\;ersil}F Education Commission in November-1948 under
the Chairmanshipof

(I) Dr. Lakshmanaswamy

2)  Shri Maulana Abul Kalam Azad
3)  Dr. Radhakrishnan
)

(
(@
(4)  Dr. Yash Pal

|
Options:

878270117209. 1
878270117210. 2
878270117211.3
878270117212. 4



Question Number : 43 Question Id : 87827029754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfefen 5 frme e o YRE SR 3 TaaT 1948 § fovafowr fen swm & e fam a7

(1) 3. A T

(2) 4 I S FA S
(3) . TIFIH

(&) 3. T

Options :

878270117209. 1
878270117210. 2
878270117211.3

878270117212. 4

Question Number : 44 Question Id : 87827029755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 1I
(Educational Stages) (Description)
(A) Samavartan () Those who completed 48 years course or study of four
Vedas
(B) Vasu (I)  Those who completed 36 years course or study of any three
Vedas
(€) Rudra (Il) Those who completed 24 years course or study of any two
Vedas
(D) Aditya (IV) A convocation ceremony

Choose the correct answer from the options given below :
(1) (M, BHIV), (-1, (OHI

(2)  (AHI), (B0, (CHI), D)-(1V)
() (AHLV), (B, (CHI), D))
() (AHT), (BH), (O-1V), (D)
Options :

878270117213. 1
878270117214. 2
878270117215. 3

878270117216. 4

Question Number : 44 Question Id : 87827029755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 § Gelt-11 1 et 1
Tl T-II
( Vtfeger =reor ) ( ferarur )

(A) HHTRH (1) o= 48 991 1 TSRy 1 <R 36 A e o o

(B) = (1) T=H 36 a1 1 UIETHN A1 I A4 o) 1 AT U foa
) % (1) o= 24 31 o1 TISTRR A1 g <) 9G] 1 A T feR
(D) anfee (IV) SleTa JWRTE

A feu U forred W § WE I A A HifC;

(1) (A)(I), B)-(IV), (C)-(1), (D)-(LIT)

(2) (A, (B)-(I), (CHII), (D)-IV)

(8)  (ARIV), (B)-(IIT), (C){II), (D))

(4)  (A)I), (B, (C-(IV), (D)-(II)

Options :

878270117213. 1
878270117214. 2
878270117215. 3

878270117216. 4

Question Number : 45 Question Id : 87827029756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following was the moving force behind the enactment of the Indian Universities
Act in the beginning of 20t Century ?

(I) Lord Canning

(2) Lord Curzon
(3) Charles Wood
(4)  Lord Dalhousie

Options :
878270117217. 1
878270117218. 2

878270117219. 3



878270117220. 4

Question Number : 45 Question Id : 87827029756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

20 & YT o Sy § e fovafoerer afufm & sfvfmm & o fefafes 5 9 fagm ga a7
1) @ Hfm

Options :

878270117217. 1
878270117218. 2
878270117219. 3

878270117220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701277
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827029757 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow :

Feminism is a meta-ideology that has been receiving attention in many areas of social sciences
in recent decades. The starting point for introducing gender to International Relations is with
respect to debate about basic inequalities between males and females and the consequences of
such inequalities on World Politics. The noted works on global gender issues argue that compared
with men, women constitute the disadvantaged group. They own about 1 per cent of the world’s
property and less than 5 per cent head higher organizations and positions while they account for
60 per cent of all working hours but receive only 10 per cent of all income. Their condition is so
deplorable as the illiteracy rate is high among them; that is 60 percent of all illiterates are women
and 80 per cent of all refugees are women, This gender discrimination is apparent universally.

A gender-sensitive focus on the world politics seeks to bring such challenges into open. It
points out the working of international political and economic systems that tend to produce an
underprivileged position for women. Jacqui True pointed out that economic development policies
of structural adjustment adopted by the International Monetary Fund (IMF) and the World Bank
and changes in the international division of labour contribute to an increased ‘feminization of
poverty’. Low paid strenuous work in export processing zone, sex tourism and migrant domestic
labour are examples of how development in international economy engages in exploitation of
women. Different forms of gender inequalities and discrimination may be found in advanced
industrial societies even after many decades of high rates of participation of women in workfares.

Sub questions

Question Number : 46 Question Id : 87827029758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Women face gender inequalities and discrimination in :
(1) Developing Nations

(2) Developed Nations

(3) Globally

(4) Highly Industrialized Societies
Options :

878270117221. 1

878270117222. 2

878270117223. 3

878270117224. 4

Question Number : 47 Question Id : 87827029759 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Why do women constitute the disadvantaged group ?
(A) Own more property than man

(B) Get lower wages than men

(C) Work longer hours for less wages

(D) Are less literate than men

(E) Have limited positions of power

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B) and (D) Only

(3) (B), (D) and (A) Only

4) (B), (C), (D) and (E) Only

Options :

878270117225. 1
878270117226. 2
878270117227.3

878270117228. 4

Question Number : 48 Question Id : 87827029760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Choose the statements that are correct.
20% of all refugees are men

B) Less than 5% women head higher organizations and position of power

(

(

(C) 60% of all illiterates are women

(D) Women account for 10% of all working hours
{

Men receive 90% of all income

Choose the correct answer from the options given below :
(1) (A)and (B) Only

( (C), (D) and (E) Only

(3) () and (C) Only

(4) (A), (B), (C) and (E) Only

Options:

878270117229. 1

878270117230. 2

878270117231.3

878270117232. 4

Question Number : 49 Question Id : 87827029761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Low paid strenuous work in export processing zone, sex tourism and migrant domestic labour”,
are examples of Exploil'ation of women in :

(I) International Economy
Economies of Industrialized Nations

2
(3
(

)
) Economies of Developing Nations
)

}

Domestic Economy

Options :

878270117233. 1
878270117234. 2
878270117235. 3

878270117236. 4



Question Number : 50 Question Id : 87827029762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The working of International political and economic systems tend to produce an
underprivileged position for women,

Statement (II) : Economic development policies adopted by the International Monitory Fund and
the World Bank contribute to an increased “feminization of poverty'.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct
5

o
k
(

4)  Statement I is incorrect but Statement Il is correct

Both Statement I and Statement Il are incorrect

)
) Statement I is correct but Statement II is incorrect

Options :

878270117237.1
878270117238. 2
878270117239.3

878270117240. 4

Question Id : 87827029757 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827029758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tfeenall =1 ST aaar iR SETa B\ A ISl ©

(1) foewrasia eo ®

(2) foerfaa <uii #

(3) ¢ favad

(4) AU SEnfTeRid gars o
Options :

878270117221.1
878270117222. 2

878270117223. 3



878270117224. 4

Question Number : 47 Question Id : 87827029759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270117225. 1
878270117226. 2
878270117227.3
878270117228. 4

Question Number : 48 Question Id : 87827029760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270117229. 1
878270117230. 2
878270117231.3

878270117232. 4

Question Number : 49 Question Id : 87827029761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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(3) foreriie < & Seferarand
(4) ] A
Options :
878270117233. 1

878270117234. 2



878270117235.3

878270117236. 4

Question Number : 50 Question Id : 87827029762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270117237. 1

878270117238. 2

878270117239. 3

878270117240. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) T FICTHT

(2) wHeRd Tfes TS

(3) M HT T
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Options :

878270117241.1
878270117242. 2
878270117243. 3

878270117244. 4

Question Number : 51 Question Id : 87827029763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270117241. 1
878270117242. 2
878270117243. 3

878270117244. 4

Question Number : 52 Question Id : 87827029764 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
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Options :

878270117245. 1
878270117246. 2
878270117247.3

878270117248. 4

Question Number : 52 Question Id : 87827029764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270117245. 1
878270117246. 2
878270117247.3

878270117248. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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878270117250. 2
878270117251.3

878270117252. 4

Question Number : 53 Question Id : 87827029765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270117252. 4
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878270117256. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“ohed T Hev Uk H 6 U 1 |

e TG Hehd g SfaEe Afe a1

I e UfeEl sTesm * Ry i o E 2
(1) +58™

(2) FHRE
(3) THHESH
(4) FUENH
Options :
878270117257. 1
878270117258. 2
878270117259. 3

878270117260. 4

Question Number : 55 Question Id : 87827029767 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"SR T W< Tk H qH T S |

Fed TG Hohd e ofaaL Afe w1

3T e e TS * g wfa # 82
(1) g™
(2) FHETH
3) YHFASSH
(4) FOEH

—

Options :

878270117257. 1
878270117258. 2
878270117259. 3
878270117260. 4

Question Number : 56 Question Id : 87827029768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

50 S o1 B E T 2 1S T - A et 8 o 8] 7 G, W R A € | T A

W 8, T ST 3 5§ o T W v g1

7 TEES GEal o Fhw SR TR F1 %7

(1) Fmaree

(2) e

(3) e

(4)  Reeeled
Options:
878270117261. 1
878270117262. 2

878270117263. 3



878270117264. 4

Question Number : 56 Question Id : 87827029768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
50 41 o B E T 2 S 0 € o n-fien A e ) o ) 7 0, W R AW E | T A
W €, 9 WergTer! 2fem R @ o e 0 0 €1
7 TS Wlell o (o8 SRR T % 7

Options :

878270117261. 1
878270117262. 2
878270117263. 3

878270117264. 4

Question Number : 57 Question Id : 87827029769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s 3 e ) o 9 o o o o a8 e %,

e S 21 S ¢ AR S Held el g 2l S ¢ 1
ey % T o & aR 7% o fr ol @
(1) 3 T

(2) e W

(3) 9O eI e

(4) e o

Options:



878270117265. 1
878270117266. 2
878270117267. 3

878270117268. 4

Question Number : 57 Question Id : 87827029769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e A Hifecd 1 & foH 1 301 g el & fof T W A9 el ) A G ¢, i o
e S 21 S ¢ AR S Tl el el @l S ¢ |

ey % T fores & R 7% Fo fr ol @

(1) 3 T

) LA

3) R gEg e

4) e v

Options :

(
(
(

878270117265. 1
878270117266. 2
878270117267.3

878270117268. 4

Question Number : 58 Question Id : 87827029770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e e A o) Wi o1 Sfogre  Wfcedfoere o1 S o9 i g Sl % el W
V1A e et o et 1 o 7 fan 7

(1) Tl

2) ISR
3) WIS
§) W

Options:

(
(
(

878270117269. 1
878270117270. 2
878270117271.3
878270117272. 4

Question Number : 58 Question Id : 87827029770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e e Y 3 o) e o sfer  fecdfoera o1 eramn o9 % g0 A % fawafe W
J1a T et ferw et o o 761 o 7

(1) T

2) Wi

3) WA

) eI

Options :

(
(
(

878270117269. 1
878270117270. 2
878270117271.3

878270117272. 4

Question Number : 59 Question Id : 87827029771 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

W fagra g g waaifoft’ & = ©

(1) ST
(2) TagaTe
(3) WrEd
(4) A<

Options :

878270117273. 1
878270117274. 2
878270117275. 3

878270117276. 4

Question Number : 59 Question Id : 87827029771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

W Togra gra=l o taaifon’ & =i g

(1) ST
(2) foway
(3) SIgsd
(4) wESE

Options :

878270117273. 1
878270117274. 2
878270117275. 3

878270117276. 4

Question Number : 60 Question Id : 87827029772 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“qife; Ffae oSl GERR ¥ g 7 V' 6 HeW W 17 kA fehy e 1§ 7
(1) e
(2) w2
(3) W
(4) ST

Options :

878270117277.1
878270117278. 2
878270117279.3
878270117280. 4

Question Number : 60 Question Id : 87827029772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"o Hfdcel oifst: HERR ¥ g 7 W' ok HeW H 78 oy fehe e 87

() e
(2) w2
(3) "H
(4) ™
Options :
878270117277.1
878270117278. 2
878270117279. 3

878270117280. 4

Question Number : 61 Question Id : 87827029773 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
' ST 1 ST T e o e el e, amfe st o ¥ 1, Ve w9 S R
&' T Fo foan 7
(1) @R
@ W fremEe w
(3 TR
Wy =
Options :
878270117281. 1
878270117282. 2
878270117283. 3

878270117284. 4

Question Number : 61 Question Id : 87827029773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
" R 1 I & U YT 2 e o fert e, e sfern afemt o [, TR €0 H 0 B
¢! S T fo 7
(1) e
(2) W freee W
() I
o T

Options :

878270117281. 1
878270117282. 2
878270117283. 3

878270117284. 4



Question Number : 62 Question Id : 87827029774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

" I T 4 S TR O o T €, o A 1 97 TRl o WO @ 2§17 o for e

fefe 1 87

(1)

2 ?‘i @ ez

(3) are

() o v fore
Options :
878270117285. 1
878270117286. 2
878270117287.3

878270117288. 4

Question Number : 62 Question Id : 87827029774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

" T 4 G TR O o R €, % A 1 9 TRl o WO A 2§17 e for e

fele 1 27

1)

@ ?‘i @ o

(3) are

(4 o e
Options :
878270117285. 1
878270117286. 2
878270117287.3

878270117288. 4



Question Number : 63 Question Id : 87827029775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"R dend’ SR SeRaa’ e Hia ¥ fel 3¢ F1 W e e ?

(1) 9. I
(2) . =R
(3) 4. e
(4) S T9EER
Options :

878270117289. 1
878270117290. 2
878270117291. 3

878270117292. 4

Question Number : 63 Question Id : 87827029775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘e e’ #iR e’ e e ¥ fel 32 1w ferg frepTen 2

(1) 9. dgrere
(2) . SR
(3) . g
(4) T TorEER
Options:

878270117289. 1
878270117290. 2
878270117291. 3

878270117292. 4



Question Number : 64 Question Id : 87827029776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Aed e F W=, €t 3wy fea favafammea @ ura =1 o ?
(1) ‘it fervaferme

(2) hiciferan fovafammer

(3) Hag favafamrera

(4) iR favataemea

Options :

878270117293. 1
878270117294. 2
878270117295. 3

878270117296. 4

Question Number : 64 Question Id : 87827029776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qETged Sfaeat F Huw, €, 3y fay favafasmea @ g &7 o ?
(1) hferst farvafaanem

(2)  rciforn fevafermera

(3) Hag favafaarem

(4) hicTeRT fervafemme

Options:

878270117293. 1

878270117294. 2

878270117295. 3

878270117296. 4



Question Number : 65 Question Id : 87827029777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

* SRR 1 YR 1 T R TR 6 | R < I - e e e
WG A 31 ST < G I SR 3 ' - 7 e o sfoereen a1 &)

(1) T

2) e R

(
(3) TR T
(4) g o

Options :

878270117297. 1
878270117298. 2
878270117299. 3

878270117300. 4

Question Number : 65 Question Id : 87827029777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

* A 1 98 1 S IR TS 6 | 7R < I S-SRl - g
YIRS, + 2t ST I 1 e i A o 3 f' - e e o SR a §7

(1) T

2) e R

(
(3) TR TG
(4) g o

Options:
878270117297. 1

878270117298. 2



878270117299. 3

878270117300. 4

Question Number : 66 Question Id : 87827029778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" ufyen 2 ot o, 9 €1 3 it foRm o ol o SO o S € e el e
TN - 7% B o ¢

(1) e i

) T
3) B
4) foferam s

Options :

(
(
(

878270117301. 1
878270117302. 2
878270117303. 3

878270117304. 4

Question Number : 66 Question Id : 87827029778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ufyen 2 ot o, SR 43 ot ) v s o e o 8, e e o
TN E - T8 B e ¢/

(1) e i

) W
3) &
4)  faferm

Options :

(
(
(

878270117301. 1



878270117302. 2
878270117303. 3

878270117304. 4

Question Number : 67 Question Id : 87827029779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG 1 e e g e g 6 FA TA &1 H HH T AR € 7

(2) ®IH
(3) THE
(4) e
Options :

878270117305. 1
878270117306. 2
878270117307. 3

878270117308. 4

Question Number : 67 Question Id : 87827029779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG S 1o i T et Y Y e WA Tl H A T SRR € 7
(1) <39H

(2) FTh
(3) IHH
(4) v

Options:

878270117305. 1



878270117306. 2
878270117307. 3

878270117308. 4

Question Number : 68 Question Id : 87827029780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ot € F qrerd Uit ot € - 31 i H e e e ©
(1) HAGTS E_%iiii:ii

(2) ST e

(3) FTecH I
(4) FeTed yarfet
Options :

878270117309. 1
878270117310. 2
878270117311.3
878270117312. 4

Question Number : 68 Question Id : 87827029780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Yot oft € F qrer i o € - 39 e § wegea shreie 9 €
(1) gve E_%iiiﬁii

(2) wreHE =

(3) TRl <A
(4) FHeTeH Ferfe
Options:

878270117309. 1



878270117310. 2
878270117311. 3

878270117312. 4

Question Number : 69 Question Id : 87827029781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
et &t TeeeTer, AR iR ¢ srehre gvie wfead fRg e H E 2
(1) §9S 9 9<%

(2w
(3) ST TS S TSI
(4) STeTHTET

Options :

878270117313. 1
878270117314. 2
878270117315.3

878270117316. 4

Question Number : 69 Question Id : 87827029781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
gfret &t eaearsr, e $iR ¢ sreRre vl wfead feg e H E 2
(1) 492 9 9<% %

(2) FA G
(3) M IS I Tl
(4) STeTHTE

Options:

878270117313. 1



878270117314. 2
878270117315. 3

878270117316. 4

Question Number : 70 Question Id : 87827029782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"0 T % e WE A RSy’ B ol o el B ARG F o o foamd 7 R e F o
9 5 - 8 42 ) el o A B T ¢

(1) o9 R - &

2) e - e

3) TR AR - A

4) - FREN

Options :

(
(
(

878270117317. 1
878270117318. 2
878270117319. 3
878270117320. 4

Question Number : 70 Question Id : 87827029782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" TR % e We A R ey’ B ol o el 1 R F o o R # R e F o
S T - T8 e o Tl o A B e ¢

(1) &8 &R -

2) e - e

3) TR FR - A

4) M- FTRER

Options:

(
(
(



878270117317. 1
878270117318. 2
878270117319. 3

878270117320. 4

Question Number : 71 Question Id : 87827029783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
3 T S T 30 AP e St o o e o o e e
FE:
(1) T Hree
Q) fﬂﬂfﬂm
(3) T
U w’ﬁ
Options :
878270117321.1
878270117322. 2
878270117323.3

878270117324. 4

Question Number : 71 Question Id : 87827029783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e 3 S SR T g AR e 3 o e o o 8
FTE:
(1) T Hesl
) fwfmsa
)

(2
(
(4) m’m



Options :

878270117321. 1
878270117322. 2
878270117323.3

878270117324. 4

Question Number : 72 Question Id : 87827029784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"9’ I0TE H gEmiET 2 Sdl R 379 SR H UH1E o 9Tl S ©

(1) 3R 1§l @il
(2) THSIH i | =i
(3) UEHH Tl & W AH

)
(4) UG 3T H1 A Grise

Options:

878270117325. 1
878270117326. 2
878270117327.3

878270117328. 4

Question Number : 72 Question Id : 87827029784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

'arg’ 3T T el &R dl S o9 R U o 9l S ©
(1) =74 1 AT @Sl

(2) TSI 1 A TSH

(3) TEEM el A

(4) UG 2T F1 1 Grise



Options :

878270117325. 1
878270117326. 2
878270117327.3

878270117328. 4

Question Number : 73 Question Id : 87827029785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

' SR o1 T e H R R % 9 fég - o gty @1 ol el @ e 7

Options:

878270117329. 1
878270117330. 2
878270117331.3

878270117332. 4

Question Number : 73 Question Id : 87827029785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

' SR 1 T e ° R e & o feég - T e 9o edt @ 2

(1) SR
(2) FEIER
(3) SEeM
(



Options :

878270117329. 1
878270117330. 2
878270117331.3
878270117332. 4

Question Number : 74 Question Id : 87827029786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o foe) erers et & - o0 T R oA o A A T P — 7 R oS e %
for T 1 7

(1) e

) g

r

3 T
4) e

Options:

(
(
(

878270117333. 1
878270117334. 2
878270117335.3

878270117336. 4

Question Number : 74 Question Id : 87827029786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e o foairs et & - 0 90 9% ol 9 M o 3 T e — 7R e O e
ERR IR

(1) e

Qo

() EE"?

(@) i

Options:
878270117333. 1
878270117334. 2
878270117335. 3

878270117336. 4

Question Number : 75 Question Id : 87827029787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Tan’ =perl <k fuan A fore <1 gwaepl W fSigrit o Sete o ke fou ?

(1) THET - HETYRA

(2) T — forsy g

(3) FHEYFTEd U9 - HHE TS Tl
(4) T — T

Options :

878270117337. 1
878270117338. 2
878270117339. 3
878270117340. 4

Question Number : 75 Question Id : 87827029787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
‘e’ =rer o o A foRa < gEashl ® fSiert o S o e fau ?
(1) THTEY - HelHd

(2) AT - fersoy g

(3)  HHEHTed YUY — g WRTE T
(4) IO — T

Options :

878270117337. 1
878270117338. 2
878270117339. 3

878270117340. 4

Question Number : 76 Question Id : 87827029788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U A o g e o SR faan 2 o figh o 3w frafer @ w7
1) YA % fon

2) HUTAM % fert

3) e a9 % e

4) I TR & & forw

Options :

(
(
(
(

878270117341.1
878270117342. 2
878270117343. 3

878270117344. 4

Question Number : 76 Question Id : 87827029788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

U R o T o S e 2 s TSt o 3w foRetert @ e o 7
1) Y oH % fon

2) WFH % fau

3)  Te a9 % fe

4) I TR & & fow

Options :

(
(
(
(

878270117341.1
878270117342. 2
878270117343. 3

878270117344. 4

Question Number : 77 Question Id : 87827029789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"7 W N T T €, A 70 W ¢ o fo ot 7 T g S bt S S ? e e
Tt 7 o e e e ? e o g SR € ) e e b R o g e R
T oI 9 T % g F@ T

(n o

) T
%) FHER
) T

Options :

=]

(
[
(

878270117345. 1
878270117346. 2
878270117347.3

878270117348. 4

Question Number : 77 Question Id : 87827029789 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
"' g0 M T A S &, G ¢ A ¢ o ot ofera o 2 e bt R e ? e i
T 7 2 e e e ? e o g SR 6 ) e e o SR o g1 ot AR
¥ HaIk 9 T % 3N %@ T
(1) o
)

4421

2
G)
4
Options :

878270117345. 1
878270117346. 2
878270117347.3

878270117348. 4

Question Number : 78 Question Id : 87827029790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Hga’ AR % =g oF T T R ga ¥

(1) 14
(2) 15
(31 13
4) 12
Options:

878270117349. 1
878270117350. 2
878270117351. 3

878270117352. 4



Question Number : 78 Question Id : 87827029790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

l

<R FZF o qY ik H el fohad g3 €2

(1) 14
(2) 15
(3) 13
(4) 12

Options :

878270117349. 1
878270117350. 2
878270117351.3

878270117352. 4

Question Number : 79 Question Id : 87827029791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

S ) e o e T g e 2, Seers o Bl § 22 S 1956 % g1 36
s 3 e & —

(1) 4 s

) HEE

3)  HAvE S

4) TR

Options :

(
(
(

878270117353. 1
878270117354. 2
878270117355. 3

878270117356. 4



Question Number : 79 Question Id : 87827029791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

'Sl <Rt ek o W T g et e, el o @l W 20 Sl 1956 %1 g1 39 e
S 3 o & —

(1) 4T s

) HEE

3) e A

4) AT

Options :

(
(
(

878270117353. 1
878270117354. 2
878270117355. 3

878270117356. 4

Question Number : 80 Question Id : 87827029792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
"o e 39 9 W TR e ¢ % 7% Tt o /v 3 S, SRR, YRR, -y o
AT A0 e 31 3 T 6 o & em E W 39 off F T g 3 & o a #
w81 — 'SR TR e & Wy ¥ T R o AR A
(1) W S
(2) qoaye g
(3) TwfoRT v
(&) T
Options :
878270117357. 1
878270117358. 2

878270117359. 3



878270117360. 4

Question Number : 80 Question Id : 87827029792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o T2 70 e WA e ¢ f 7% Fl of o o, SRR, yeerew, foee -y o
TR T A0 e B3 e B o & e R W 39 of e T € 9 @ o A #
Ty 81" — 'siiR TR e & Ty ¥ 7 Fom Frw AAEE AT

(1) TG e

2) Ty g

%) T

4) T YR

=]

(
[
(
Options :

878270117357. 1
878270117358. 2

878270117359. 3

878270117360. 4

Question Number : 81 Question Id : 87827029793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"y T o e ot T & ey | Hewm ufy # fem sedwm | e 6 2
(1) wrfefcaer Frfwq 4

(2) I < TSR o

(3) eH & FEFA H

(4) OfeETie wEEA |

Options :

878270117361. 1



878270117362. 2
878270117363. 3

878270117364. 4

Question Number : 81 Question Id : 87827029793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

" T o e of w1 frety § Tenm iy # foeg sl 1 g 62
(1) wfefers FrEwa o

(2) Ed F wAEH H
(3) eH & FEFA H
(4) OfeETie wEEA |
Options :

878270117361. 1
878270117362. 2
878270117363. 3

878270117364. 4

Question Number : 82 Question Id : 87827029794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"o R 7 I e € o ) o e ST € 3 g af el §1 e, o o e <
¥ T S WR 1 AT 1 9 A A e o T we, i 3 ) W ae g w gl
78 F9 o o 9 g0 £

1) T

) R

) Fere

4) W F =R A

=

@
(
(



Options :

878270117365. 1
878270117366. 2
878270117367.3

878270117368. 4

Question Number : 82 Question Id : 87827029794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
"' TR 1 S 4§ R o B ST @ 3 R f ST €| R, o N 3o <
o e T AR 1 AT o o T A el 7 T e, e S e A A 4 e 61
7 F 8 T 8 35 ¢

1) e
) R @

) forf

4) T % TR A

=

(
(
(
Options:

878270117365. 1
878270117366. 2

878270117367.3

878270117368. 4

Question Number : 83 Question Id : 87827029795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘el SR S Feer T A B em i o fire T feper el v gen €7
(1) TEm
()
(:
{

a2

) T
4 TER

Options:

878270117369. 1
878270117370. 2
878270117371.3

878270117372. 4

Question Number : 83 Question Id : 87827029795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

gt SR T ey 1% A o e it i firen T femek wieof o e g §7

(1) TR
() e
(3) e
(4) TR
Options :

878270117369. 1
878270117370. 2
878270117371.3

878270117372. 4

Question Number : 84 Question Id : 87827029796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"1 SRR ST 3 T 3 € e o, R g A e 1 S e E A sl e

Options:

878270117373. 1
878270117374. 2
878270117375. 3

878270117376. 4

Question Number : 84 Question Id : 87827029796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"7 SRR ST 35 T e € e o, R e e o 1 39 e O el e

Options :

878270117373. 1
878270117374. 2
878270117375. 3

878270117376. 4

Question Number : 85 Question Id : 87827029797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"5 e e ST 1 O W A ) B €, O VAL T e, 6 % 7 ot 7R e o o 3
AR E..." — 7 ar e o 9 o w0 & o T e A for 27

(1) o

2) W

3) A % o

4 SR

Options:

(
(
(

878270117377. 1
878270117378. 2
878270117379. 3

878270117380. 4

Question Number : 85 Question Id : 87827029797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" 0 sl T o O 09 W ) BT €, O L. O e, 1 g 7 ot ) et o 0 o
TR, — 7% a fwffen § § fom & o H wd figm 3 fom 27

(1) o

2) e

3) T Fe % o

y o

Options :

(
(
(

878270117377. 1
878270117378. 2
878270117379. 3
878270117380. 4

Question Number : 86 Question Id : 87827029798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

e S35 T o 33 e e, e s o A R

Options :

878270117381. 1
878270117382. 2
878270117383. 3

878270117384. 4

Question Number : 86 Question Id : 87827029798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e S 3 T ot 33 e e, e s o o R

Options :

878270117381. 1
878270117382. 2
878270117383. 3

878270117384. 4

Question Number : 87 Question Id : 87827029799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

e’ § e S 6 TR (TR SR TR) T R yafad R 9 % i 82

(

AL

(3) TR gy
(4) T9TY
Options :

878270117385. 1
878270117386. 2
878270117387. 3

878270117388. 4

Question Number : 87 Question Id : 87827029799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e’ T o 35 T (YRR SR SR e e i e 3 o 87

(

@) @i

(3) TR 9y
(4) T9TY
Options :

878270117385. 1
878270117386. 2
878270117387.3

878270117388. 4

Question Number : 88 Question Id : 87827029800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

frefafad e Geerl § THFHAR a0 Fd FHed Haho ©
(A) TeHid FIEG : 1939

(B) ST : 1930
(C) TR : 1945
(D) Ter=an @ 1935

(E) TUehet=d : 1958

H3 e o ool § @ W@ S 1 =9 i
(1) = (A), (B) (O)

(2) %9 (B), (Q), (D)

(3) %9 (B), (D), (E)

4) % (O), (D), (B)

Options :

878270117389. 1

878270117390. 2

878270117391.3

878270117392. 4

Question Number : 88 Question Id : 87827029800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafed e et | IFuR a9t Fd FHe Taed ©
(A) TG GG : 1939

(B) 3SIfcA : 1930
(C) T EHAH : 1945
(D) T : 1935

(E) U&HaA : 1958

H3 fau o faerel o 9 W@ SR 1 =9 T
(1) 9 (A), (B) (O)

) %94 (B), (Q), (D)

(3) 9 (B), (D), (E)

(4) %9 (C), (D), (B)

Options :

878270117389. 1

878270117390. 2

878270117391. 3

878270117392. 4

Question Number : 89 Question Id : 87827029801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

e yaTe fag &1 wfaar ‘gagqe & e’ 9 e Seeta w1 e § 2
(1 e

(2 Fa
(3) e
(4) [
Options :

878270117393. 1
878270117394. 2

878270117395. 3



878270117396. 4

Question Number : 89 Question Id : 87827029801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el e fag i =faan waqer & s’ | R Sl s SerE € 2
(1) Tie

) Hd
(3) =
(4) ¥
Options :

878270117393. 1
878270117394. 2
878270117395. 3

878270117396. 4

Question Number : 90 Question Id : 87827029802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I 1 Fied - Tl ' FSH < SIS, Hiet hepel A o H Ao 63 1 3 €

et ~

(1) =g
(2) fooed
(3) o
4 T
Options :

878270117397. 1
878270117398. 2

878270117399. 3



878270117400. 4

Question Number : 90 Question Id : 87827029802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I i Hforal - Gfeft @IS < TSt hicl el S o’ H arsiad)| e H 99 @
(1) g

(2) foued
(3) @
@) T
Options :

878270117397. 1
878270117398. 2
878270117399. 3

878270117400. 4

Question Number : 91 Question Id : 87827029803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R W9 A T % w9 6 R & e o e A €

(A) #FTE 351 % SEN N i Twm fedt i fofy <o &

(B) T W T 21 e 7 1976 W g

(C) 14 Towr 1949 3. 1 5@ iy 71 ¥ ‘T’ Wl o Wi g @ Haum w1 F Sy
CREuRGEE]

(D) fofatt e & T FAFET 1 A S A FETd ¢

(E) T o T2 3 75, 1955 . 1 0% - 344 (1) % SRR W, TSN ST o T 1 S
I

1 fou T ol W W@ S 1 A

(1) A (B), (D), (B

Q) ¥ (4), D) B

(3) (A), (B), (E)

(4) (8), ), (D)

Options:

878270117401. 1

878270117402. 2

878270117403. 3

878270117404. 4

Question Number : 91 Question Id : 87827029803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R W9 A T % w9 6 R & e o e A €

(A) #FTE 351 % SEN N i Twm fedt i fofy <o &

(B) T W T 21 e 7 1976 W g

(C) 14 Towr 1949 3. 1 5@ iy 71 ¥ ‘T’ Wl o Wi g @ Haum w1 F Sy
CREuRGEE]

(D) fofatt e & T FAFET 1 A S A FETd ¢

(E) T o T2 3 75, 1955 . 1 0% - 344 (1) % SRR W, TSN ST o T 1 S
I

1 fou T ol W W@ S 1 A

(1) A (B), (D), (B

Q) ¥ (4), D) B

(3) (A), (B), (E)

(4) (8), ), (D)

Options:

878270117401. 1

878270117402. 2

878270117403. 3

878270117404. 4

Question Number : 92 Question Id : 87827029804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR & e § feifefan o v wA e
(A) 3 favary o WA " el TeeRa favTel e i 21 S SRR Y TR0 ol &
R 52 T (e Al § g E e |

(B) & % STHR ' HeA S Aek H AN TR % I S AR of G fovE,
S HERIT 1 TR 2 1

(C) el T o ST, " SROieRn g et T et foe et g W O % ) €

(D) AT IR e o TR W o ST o < e ST A RO AT o
I 21 € 3 39 3 1 19 e g1

(E) & 7% o AR SRR A 6 A (TH) 1 2 & 7 S () 7 e ¢ i 7
EEE R R

A feu o fommedl o § WE S A T o

(1) % (A), (B) (O)

(2) % (8), (D), (E)

3 ¥ (C), (D), (£)

(4 5 (@) (C) (D)

Options:

878270117405. 1

878270117406. 2

878270117407. 3

878270117408. 4

Question Number : 92 Question Id : 87827029804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR & e § feifefan o v wA e
(A) 3 favary o WA " el TeeRa favTel e i 21 S SRR Y TR0 ol &
R 52 T (e Al § g E e |

(B) & % STHR ' HeA S Aek H AN TR % I S AR of G fovE,
S HERIT 1 TR 2 1

(C) el T o ST, " SROieRn g et T et foe et g W O % ) €

(D) AT IR e o TR W o ST o < e ST A RO AT o
I 21 € 3 39 3 1 19 e g1

(E) & 7% o AR SRR A 6 A (TH) 1 2 & 7 S () 7 e ¢ i 7
EEE R R

A feu o fommedl o § WE S A T o

(1) % (A), (B) (O)

(2) % (8), (D), (E)

3 ¥ (C), (D), (£)

(4 5 (@) (C) (D)

Options:

878270117405. 1

878270117406. 2

878270117407. 3

878270117408. 4

Question Number : 93 Question Id : 87827029805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e Bt % gy frefefen o T wm €

(A) G A e i o 3 o 1873 % A - et T am A e
(B) g aftwes A e ol A s e e & fe fan

(C) e Bftver 4 ' aFfe T e fere

(D) R 1881 W ‘Al o HOTCeR ol S0 Hfol TR S gUEEael o foTt § o
WA T €

(E) R A oo o e o foren &, * ey o SR YR T ) SR W | T S H S o
T 31t

4 fou U feredl § B WG S 1 T F

(1) @ (A) (D), (B

@ @ (C), (D). ©)

() % (4), (B)

@ @ () (C) (D

Options:

8782701174009. 1

878270117410. 2

878270117411. 3

878270117412. 4

Question Number : 93 Question Id : 87827029805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e Bt % gy frefefen o T wm €

(A) G A e i o 3 o 1873 % A - et T am A e
(B) g aftwes A e ol A s e e & fe fan

(C) e Bftver 4 ' aFfe T e fere

(D) R 1881 W ‘Al o HOTCeR ol S0 Hfol TR S gUEEael o foTt § o
WA T €

(E) R A oo o e o foren &, * ey o SR YR T ) SR W | T S H S o
T 31t

4 fou U feredl § B WG S 1 T F

(1) @ (A) (D), (B

@ @ (C), (D). ©)

() % (4), (B)

@ @ () (C) (D

Options:

8782701174009. 1

878270117410. 2

878270117411. 3

878270117412. 4

Question Number : 94 Question Id : 87827029806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T T Y e e e et v Feerfim sl 7 o o g0 g
§ T el o1 i A 32 @ VAW Fi & €9 8 T
(A) Eg - feRaivreTet sl

(B) T I Tl - FEA A

(C) ™ o 1§74 - THa: Y

(D) ifed iR dfeam - ffteea o

(E)  geeeet - e

4 fou U foered H 9 W8 S 1 T F

() % (B) (C) (D)

@ &), @

(3) A (4), (C), (D)

() # (C), (D) ()

Options :

878270117413. 1

878270117414. 2

878270117415. 3

878270117416. 4

Question Number : 94 Question Id : 87827029806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T T Y e e e et v Feerfim sl 7 o o g0 g
§ T el o1 i A 32 @ VAW Fi & €9 8 T
(A) Eg - feRaivreTet sl

(B) T I Tl - FEA A

(C) ™ o 1§74 - THa: Y

(D) ifed iR dfeam - ffteea o

(E)  geeeet - e

4 fou U foered H 9 W8 S 1 T F

() % (B) (C) (D)

@ &), @

(3) A (4), (C), (D)

() # (C), (D) ()

Options :

878270117413. 1

878270117414. 2

878270117415. 3

878270117416. 4

Question Number : 95 Question Id : 87827029807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frreifera s Ol ® faas w1 am’ % wfedl @ 99 e dfemi € -
(A) "o TS FR FE GHRA Ta S
(B) ‘few fufer St Al fafer < < &

fed 1 7 < arehl e 7 ferfe”
(C) ‘sifg # srermfy fadifa # o faemem =t o’
(D) ‘s € fe 7 dfei, sifei vy Fi wfgar €f w1’
(E) ‘¥ Y HE &g Tl ored, 7 @ a9 for 7 A’
A feu U fomedi ® § W& SR 1 T34 R
(1) Fa9 (4), (B) (O
2) %ad (O), (D), (B)
: )

( (
(3) % (B), (C), (D
(4) & (A), (©), (D)
Options:

878270117417. 1
878270117418. 2
878270117419. 3

878270117420. 4

Question Number : 95 Question Id : 87827029807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frreifera s Ol ® faas w1 am’ % wfedl @ 99 e dfemi € -
(A) 9 goreT wfeR FE GAfG T FE
(B) ‘few fufer St Al fafer < < &
fed 1 7 < arehl e 7 ferfe”
(C) ‘sifg # srermfy fadifa # o faemem =t o’
(D) ‘s € fe 7 dfei, sifei vy Fi wfgar €f w1’
(E) ‘¥ Y HE &g Tl ored, 7 @ a9 for 7 A’
A<t fou e foepedi H § W@ I A HIC ;
) e (A), (B) (©)
)

(

(2) = (C), (D), (E)
(®) % () C) (D)
(4) %4 (A), (), (D)
Options:

878270117417. 1
878270117418. 2
878270117419. 3

878270117420. 4

Question Number : 96 Question Id : 87827029808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT e WA, Fag o e o v 7 ffafas o § ¥ w8 o @ e i
(A) ST F SR SRR 1o 1 A A o § T 3 W < ¢
(B) WP % SRR fra i o ferves w9 () e &1

(C) VI % SR e 1 T T A 9 0 e €
(
(

D) T o SFTER Wevd R A (o) e SR SfcierR e ¢ |
E) WA % SGR fovrafc o T syl o oo ofeeh-ov &Y §am GR T8 1 Sivetdd e
el

A few T e O @ W S T FC
(1) (4), () (O

@) ¥ @) (C) (D)

() % (A), (B), D)

@ % (C), (), )

Options :

878270117421. 1
878270117422. 2
878270117423. 3

878270117424. 4

Question Number : 96 Question Id : 87827029808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT e WA, Fag o e o v 7 ffafas o § ¥ w8 o @ e i
(A) ST F SR SRR 1o 1 A A o § T 3 W < ¢
(B) WP % SRR fra i o ferves w9 () e &1

(C) VI % SR e 1 T T A 9 0 e €
(
(

D) T o SFTER Wevd R A (o) e SR SfcierR e ¢ |
E) WA % SGR fovrafc o T syl o oo ofeeh-ov &Y §am GR T8 1 Sivetdd e
el

A few T e O @ W S T FC
(1) (4), () (O

@) ¥ @) (C) (D)

() % (A), (B), D)

@ % (C), (), )

Options :

878270117421. 1
878270117422. 2
878270117423. 3

878270117424. 4

Question Number : 97 Question Id : 87827029809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tooer vt R fowat o wra  rfafas FoA § 8 58 o 1 e

(A) 30 7 3 779 e W e o AN U, ST T 9 Fed %9 o ferd foRan
2l

(B) = for &, ' Fon fofa g o e e g A o Ot e g & ok e 6 e
Y0 T ¢

(C) ek e oyl B & ek farvall 21 fAion i fob o7t 21

(D) iteh FTcY 7 EToRt FRE gl €, e o el o O 1 WA el ¢

() 1§ T o I e & IR SRl el o7 Fn e

el e U el o § Y SR o < I

(1) (), (B) D)

@ ¥ (4), @)

&) (8), ©), (E)

(4 (C), (D),

L
G
Options:

878270117425. 1
878270117426. 2
878270117427.3

878270117428. 4

Question Number : 97 Question Id : 87827029809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tooer vt R fowat o wra  rfafas FoA § 8 58 o 1 e

(A) 30 7 3 779 e W e o AN U, ST T 9 Fed %9 o ferd foRan
2l

(B) = for &, ' Fon fofa g o e e g A o Ot e g & ok e 6 e
Y0 T ¢

(C) ek e oyl B & ek farvall 21 fAion i fob o7t 21

(D) iteh FTcY 7 EToRt FRE gl €, e o el o O 1 WA el ¢

() 1§ T o I e & IR SRl el o7 Fn e

el e U el o § Y SR o < I

(1) (), (B) D)

@ ¥ (4), @)

&) (8), ©), (E)

(4 (C), (D),

L
G
Options:

878270117425. 1
878270117426. 2
878270117427.3

878270117428. 4

Question Number : 98 Question Id : 87827029810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR MR % T S A €

(A) TR i 5% ‘T UHISA HelH § ST S T 1 ST W S ¢
(B) Sl Tes] Bl ST S F1 WY WA T £

(C) Fefen S 3 ST ansfTR i Yatare % famm 9 E e Fa e

(D) ¥ TH 3fwe i Ffd '3 9w e’ IW MFFAER F Wieidw ST ¢ |

(E) IR Ayfaraars foraman 3 o #i 9o iR fommum & ofq 1 s &)

= feu o fowedt § | wE I 9 e

(1) @ (4), (B) (D)
(@) @ () () (B
(3) (©), (D), (E)
(4 (A), (©), (E)
Options:
878270117429. 1
878270117430. 2
878270117431.3

878270117432. 4

Question Number : 98 Question Id : 87827029810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR MR % T S A €

(A) TR i 5% ‘T UHISA HelH § ST S T 1 ST W S ¢
(B) Sl Tes] Bl ST S F1 WY WA T £

(C) Fefen S 3 ST ansfTR i Yatare % famm 9 E e Fa e

(D) ¥ TH 3fwe i Ffd '3 9w e’ IW MFFAER F Wieidw ST ¢ |

(E) IR Ayfaraars foraman 3 o #i 9o iR fommum & ofq 1 s &)

= feu o fowedt § | wE I 9 e

(1) @ (4), (B) (D)
(@) @ () () (B
(3) (©), (D), (E)
(4 (A), (©), (E)
Options:
878270117429. 1
878270117430. 2
878270117431.3

878270117432. 4

Question Number : 99 Question Id : 87827029811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el I 5 A I A T €

(A) I TR F] AT el WHIER SN SIS qHeE of|

(B) @ TS Hfqy, YA, Saydl 3R Hifiieh et 1 forelt o |

(C) <aETY I SR FWaTE B9 7 5 TS H TR T TG W Hewqu i |
(D) e G ol SO 1882 H g

(E)

) % GO [AfeeTe H WHIE T R
e feu o fomred o | W& I F1 T Hif0
(1) 9 (4), ) (B)
() @ (A) (D) (B)
(3) % (8), (D), ()
(4 % (C), (D), (E)
Options:

878270117433. 1
878270117434. 2
878270117435. 3

878270117436. 4

Question Number : 99 Question Id : 87827029811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el I 5 A I A T €

(A) I TR F] AT el WHIER SN SIS qHeE of|

(B) @ TS Hfqy, YA, Saydl 3R Hifiieh et 1 forelt o |

(C) <aETY I SR FWaTE B9 7 5 TS H TR T TG W Hewqu i |
(D) e G ol SO 1882 H g

(E)

) % GO [AfeeTe H WHIE T R
e feu o fomred o | W& I F1 T Hif0
(1) 9 (4), ) (B)
() @ (A) (D) (B)
(3) % (8), (D), ()
(4 % (C), (D), (E)
Options:

878270117433. 1
878270117434. 2
878270117435. 3

878270117436. 4

Question Number : 100 Question Id : 87827029812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘YT o E-UT ©
(A) Hesl

(B) gar

(C) wfw

(D) Tersemr

E) frafore

A feu Ty ferpedi ® 9 @& ST 1 =94 HIf
(1) jﬂﬁmm, (D), (E)

() %99 (B), (C), (D)

(3) 4w (A), (D), (E)
(4) &= (A), (O), (E)

A

Options:

878270117437. 1
878270117438. 2
878270117439. 3
878270117440. 4

Question Number : 100 Question Id : 87827029812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘YT o E-UT ©
(A) Hesl

(B) gar

(C) wfw

(D) Tersemr

E) frafore

A feu Ty ferpedi ® 9 @& ST 1 =94 HIf
(1) jﬂﬁmm, (D), (E)

() %99 (B), (C), (D)

(3) 4w (A), (D), (E)
(4) &= (A), (O), (E)

A

Options:

878270117437. 1
878270117438. 2
878270117439. 3
878270117440. 4

Question Number : 101 Question Id : 87827029813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



aferraiey st wfaam ‘ofeR #' U % ¥ § Iufeery Wfaeifas =afa € ;
(A) &

i

(B) deHaM™

€ s

(D) foerr

(E) Tl

9 feu o fasredi § 9 9d SO &1 F9949 FIU
(1) %94 (B), (C), (D)

(2) %9 (B), (A), ()

(3) %9 (B), (D), (E)

(4) F9 (C), (D), (E)

Options:

878270117441. 1
878270117442. 2
878270117443. 3

878270117444. 4

Question Number : 101 Question Id : 87827029813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



aferraiey st wfaam ‘ofeR #' U % ¥ § Iufeery Wfaeifas =afa € ;
(A) &

i

(B) deHaM™

€ s

(D) foerr

(E) Tl

9 feu o fasredi § 9 9d SO &1 F9949 FIU
(1) %94 (B), (C), (D)

(2) %9 (B), (A), ()

(3) %9 (B), (D), (E)

(4) F9 (C), (D), (E)

Options:

878270117441. 1
878270117442. 2
878270117443. 3

878270117444. 4

Question Number : 102 Question Id : 87827029814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



O ;e el um-1, TR afve fammen A & See €
(A) I |
(B) ST ciksHar|
(C) e
(D) ATcERT
(B) <o
= fou T faskedi § 9 W@ SO 1 999 FWC ;
() &9 (A), (©) (D)
) %9 (B), (C), (D)
(3) & (O), (D), (B)
) &= (A), (B) (O)
Options:
878270117445. 1
878270117446. 2
878270117447. 3

878270117448. 4

Question Number : 102 Question Id : 87827029814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



O ;e el um-1, TR afve fammen A & See €
(A) I |
(B) ST ciksHar|
(C) e
(D) ATcERT
(B) <o
= fou T faskedi § 9 W@ SO 1 999 FWC ;
() &9 (A), (©) (D)
) %9 (B), (C), (D)
(3) & (O), (D), (B)
) &= (A), (B) (O)
Options:
878270117445. 1
878270117446. 2
878270117447. 3

878270117448. 4

Question Number : 103 Question Id : 87827029815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et Su=my ® R s of i, = s fean mn g
(A) o1EFd el T STAVFSW & T 5
ek 7 O TE ST ITSI/HRA 9Tl B T
(B) S q ATEgAr & WA A ol
d dren B fea A T
(C) Toei=iE W T, 751 1 g2d! AR
T U ¥4 71 512, e U 9T FER |
(D) o e o8 =g fy, =W <5 foce |
fien figem /@ e, SAH e faew
(E) A H et/ | e/ # e/ ae Armdy
A H femg/aeh faaiityA | way/fa=a TeH/aea #ie s/ $iF
i< fou U fowedl § 9 A& SO 1 997 HifT
(1) = (A), (B) (O
(2) % (B), (C), (D)
(3) = (A), (O), (B)
(4) 9 (B), (D), (E)
Options:
878270117449. 1
878270117450. 2
878270117451. 3
878270117452. 4

Question Number : 103 Question Id : 87827029815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et Su=my ® R s of i, = s fean mn g
(A) o1EFd el T STAVFSW & T 5
ek 7 O TE ST ITSI/HRA 9Tl B T
(B) S q ATEgAr & WA A ol
d dren B fea A T
(C) Toei=iE W T, 751 1 g2d! AR
T U ¥4 71 512, e U 9T FER |
(D) o e o8 =g fy, =W <5 foce |
fien figem /@ e, SAH e faew
(E) A H et/ | e/ # e/ ae Armdy
A H femg/aeh faaiityA | way/fa=a TeH/aea #ie s/ $iF
i< fou U fowedl § 9 A& SO 1 997 HifT
(1) = (A), (B) (O
(2) % (B), (C), (D)
(3) = (A), (O), (B)
(4) 9 (B), (D), (E)
Options:
878270117449. 1
878270117450. 2
878270117451. 3
878270117452. 4

Question Number : 104 Question Id : 87827029816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



" ) o FeF o SR W IR

(A) TR S el 1 ateh WE T o HW el ¢

(B) I fifE VereA o forgueh o | o e e T Wi U ST o 99T 1 4 A TN €
(C) o A &1 e o ¢ 1 T i R A

(D) e fifg feamems § firee e o 919 e

() @A e 77 e o SRR & T 8|

3 feu T fomret & @ WE SO T

1) % (4), (B) (B

@ %@ (4) ) [0
) (@) () [©
@ @ (0) (D), ©
Options:
878270117453. 1
878270117454. 2
878270117455. 3

878270117456. 4

Question Number : 104 Question Id : 87827029816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



" ) o FeF o SR W IR

(A) TR S el 1 ateh WE T o HW el ¢

(B) I fifE VereA o forgueh o | o e e T Wi U ST o 99T 1 4 A TN €
(C) o A &1 e o ¢ 1 T i R A

(D) e fifg feamems § firee e o 919 e

() @A e 77 e o SRR & T 8|

3 feu T fomret & @ WE SO T

1) % (4), (B) (B

@ %@ (4) ) [0
) (@) () [©
@ @ (0) (D), ©
Options:
878270117453. 1
878270117454. 2
878270117455. 3

878270117456. 4

Question Number : 105 Question Id : 87827029817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘SeTe’ FEMT %k G Y H 3uYEH HH €

(A) TIES il 319 IS TS SHSH & A2 HI TgaA @ © |
(B) weHe A faumEl wdie & |

(C) X! s qde S B

(D) G ST T B1fHE § a8l =edl B |
() == BIHE A 92 BIffe 1 e Well o |

A e o foeredl © § WE ST 1 =9I FIRTC -
(1) %= (B), (C), (D)

(2) 9 (A), (B), (E)

(3) 9 (B), (D), (E)

(4) %9« (O), (D), (B)

Options:

878270117457. 1
878270117458. 2
878270117459. 3

878270117460. 4

Question Number : 105 Question Id : 87827029817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘SeTe’ FEMT %k G Y H 3uYEH HH €

(A) TIES il 319 IS TS SHSH & A2 HI TgaA @ © |
(B) weHe A faumEl wdie & |

(C) X! s qde S B

(D) G ST T B1fHE § a8l =edl B |
() == BIHE A 92 BIffe 1 e Well o |

A e o foeredl © § WE ST 1 =9I FIRTC -
(1) %= (B), (C), (D)

(2) 9 (A), (B), (E)

(3) 9 (B), (D), (E)

(4) %9« (O), (D), (B)

Options:

878270117457. 1
878270117458. 2
878270117459. 3

878270117460. 4

Question Number : 106 Question Id : 87827029818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"R g’ e B et i § Fo 30 §

A) T W qrEd 3 F M EaEaEr ¢

B) e W WA ISR ol Jav ' GH e W oIl ¢

Q) ‘ot dreel g I, i Wi ZEM' 78 Yo TS WeR gRI FE T €
D) 39 ek 1 TR Had 1933 H ga

(E) ‘Trefeem’ ek o ‘AR ot # ol £

r few e foeredl & 9 WE SR H T FIC

(1) % (), (B) (D)

(
(
(
(

Options:

878270117461. 1
878270117462. 2
878270117463. 3
878270117464. 4

Question Number : 106 Question Id : 87827029818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"R g’ e B et i § Fo 30 §

A) T W qrEd 3 F M EaEaEr ¢

B) e W WA ISR ol Jav ' GH e W oIl ¢

Q) ‘ot dreel g I, i Wi ZEM' 78 Yo TS WeR gRI FE T €
D) 39 ek 1 TR Had 1933 H ga

(E) ‘Trefeem’ ek o ‘AR ot # ol £

r few e foeredl & 9 WE SR H T FIC

(1) % (), (B) (D)

(
(
(
(

Options:

878270117461. 1
878270117462. 2
878270117463. 3
878270117464. 4

Question Number : 107 Question Id : 87827029819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘ol Rt e F ey we-sher €

(A) T e Tee] Site H fasme F Fod T fagei 1 i Fw g1
(B) 4t oM Fraqdl =1 7% T Tt o Teen | el e e 2 |
(C) T, feafe vd . feeffeat aemeioees qon favawra 7&f o)
(
(

D) ‘efe-ar’ 37 o e F TF o TIVI-BE FI 7 F B

E) 39 e i 9 ¥ o §ed 7l & S GHC Siad o a1 %1 ThE TeF |
A fou 7o foskedl | Wt SO’ 1 994 Hife ;

() % (4), (B) )

(2)
(3
(
Options:
878270117465. 1
878270117466. 2

878270117467. 3

878270117468. 4

Question Number : 107 Question Id : 87827029819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘ol Rt e F ey we-sher €

(A) T e Tee] Site H fasme F Fod T fagei 1 i Fw g1
(B) 4t oM Fraqdl =1 7% T Tt o Teen | el e e 2 |
(C) T, feafe vd . feeffeat aemeioees qon favawra 7&f o)
(
(

D) ‘efe-ar’ 37 o e F TF o TIVI-BE FI 7 F B

E) 39 e i 9 ¥ o §ed 7l & S GHC Siad o a1 %1 ThE TeF |
A fou 7o foskedl | Wt SO’ 1 994 Hife ;

() % (4), (B) )

(2)
(3
(
Options:
878270117465. 1
878270117466. 2

878270117467. 3

878270117468. 4

Question Number : 108 Question Id : 87827029820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S e o T W H R

(A) HHaI YT o STER 9% e T il gfte o vEeR o T o)

(B) 7 e | i § faonfom &

(C) 39 T 1 21 et WIS o HOea Tt a1 Hea ookt T e W 790 1 g & o 7%
@l

(D) 3 Wit 1 i Wit o T - A €

(E) T2 % TR 33 1 i et 1 ' 2|

1 fou T ol W 4 W@ S 1 T

() % (A)0) (B

Options :

878270117469. 1
878270117470. 2
878270117471.3
878270117472. 4

Question Number : 108 Question Id : 87827029820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S e o T W H R

(A) HHaI YT o STER 9% e T il gfte o vEeR o T o)

(B) 7 e | i § faonfom &

(C) 39 T 1 21 et WIS o HOea Tt a1 Hea ookt T e W 790 1 g & o 7%
@l

(D) 3 Wit 1 i Wit o T - A €

(E) T2 % TR 33 1 i et 1 ' 2|

1 fou T ol W 4 W@ S 1 T

() % (A)0) (B

Options :

878270117469. 1
878270117470. 2
878270117471.3
878270117472. 4

Question Number : 109 Question Id : 87827029821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT AR g & Hefer ST FYA

(A) Werd ARE f7g H W G 1852 5. W AN, I Y H §A A1

(B) W%, 35, EIHI, S SR aven H Il oS! T o |

(C) 3= fedt wea' ufret o1 Hored foran )

(D) @, 9, &1, =, e, fvew, 9w, gl s foodi s fay fod |
(E) ‘e’ v geu’, s qura’ T g’ afe ST wgE i € |
A fou T fosedl § 9 W& SR =9 FC

(1) ¥ (A), ) (D)

(2) ¥ (A), (D), (B)

(3) A (B), (O (D)

(4) ¥A (B), (D), (E)

Options:

878270117473. 1

878270117474. 2

878270117475. 3

878270117476. 4

Question Number : 109 Question Id : 87827029821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT AR g & Hefer ST FYA

(A) Werd ARE f7g H W G 1852 5. W AN, I Y H §A A1

(B) W%, 35, EIHI, S SR aven H Il oS! T o |

(C) 3= fedt wea' ufret o1 Hored foran )

(D) @, 9, &1, =, e, fvew, 9w, gl s foodi s fay fod |
(E) ‘e’ v geu’, s qura’ T g’ afe ST wgE i € |
A fou T fosedl § 9 W& SR =9 FC

(1) ¥ (A), ) (D)

(2) ¥ (A), (D), (B)

(3) A (B), (O (D)

(4) ¥A (B), (D), (E)

Options:

878270117473. 1

878270117474. 2

878270117475. 3

878270117476. 4

Question Number : 110 Question Id : 87827029822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ForTe T & Tl o1 fearedl @ gefia s FeA €
(A) FaTg T % Falell 1 e B A Sie, T G SR Ee e & |

(B) Ty T wfer ey o1 v ey ot qem W safeedee iy sifrss wea €
(C) o T o fradi o frereni o fd Teq s €|
{
{

D) FaE T e’ T e FH (Intellectual activity) T € |
E) o T4 @t fes i ok iy fawn ama €
7 fou o fomredi § 9 8 R F 79 I ;

Options:

878270117477.1
878270117478. 2
878270117479.3

878270117480. 4

Question Number : 110 Question Id : 87827029822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ForTe T & Tl o1 fearedl @ gefia s FeA €
(A) FaTg T % Falell 1 e B A Sie, T G SR Ee e & |

(B) Ty T wfer ey o1 v ey ot qem W safeedee iy sifrss wea €
(C) o T o fradi o frereni o fd Teq s €|
{
{

D) FaE T e’ T e FH (Intellectual activity) T € |
E) o T4 @t fes i ok iy fawn ama €
7 fou o fomredi § 9 8 R F 79 I ;

Options:

878270117477.1
878270117478. 2
878270117479.3

878270117480. 4

Question Number : 111 Question Id : 87827029823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y SR & TR T-HA €

(A) SR T TRE B TR A SR M H 31 6, T 1880 T B g o
(B) Fororre Teft =t et et ‘wew’ W # oW

(C) ‘wrem’ Ferl o FoR a6 1924 ¢ |

(D) forew &t # = 4 % forg Teie 1932 H Weed &k afas M|

(E) UWe F Feel ' HeUW WEh T U WEh WERE A % TR fE

A few U forredl § 9 WE S 1 T FfC

Options:

878270117481. 1
878270117482. 2
878270117483. 3

878270117484. 4

Question Number : 111 Question Id : 87827029823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y SR & TR T-HA €

(A) SR T TRE B TR A SR M H 31 6, T 1880 T B g o
(B) Fororre Teft =t et et ‘wew’ W # oW

(C) ‘wrem’ Ferl o FoR a6 1924 ¢ |

(D) forew &t # = 4 % forg Teie 1932 H Weed &k afas M|

(E) UWe F Feel ' HeUW WEh T U WEh WERE A % TR fE

A few U forredl § 9 WE S 1 T FfC

Options:

878270117481. 1
878270117482. 2
878270117483. 3

878270117484. 4

Question Number : 112 Question Id : 87827029824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



P A e e S FE

(A) T T SRR WA o -0 1 59 2

(B) oS A S SR o Tk el o Wit ‘S & ) H' o fora e

(C) el et o1 A A1 o1 o9 9] o ST ST 91 A 77 o

(D) . Tz TG 7 ST e W for € o 9 Wit oew: qed # o)

(E) %A S o e 3R oA < o fofehTel § 'l I 9T i 3 S a1 ooy A 2
e e U feerel o 9 T SR 1 T I

(1) @ (A), () (O

@ % (4) () [D)
() (A), (8) ([
W ¥ (B) () (D

Options:

[ o O e

878270117485. 1
878270117486. 2
878270117487. 3

878270117488. 4

Question Number : 112 Question Id : 87827029824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



P A e e S FE

(A) T T SRR WA o -0 1 59 2

(B) oS A S SR o Tk el o Wit ‘S & ) H' o fora e

(C) el et o1 A A1 o1 o9 9] o ST ST 91 A 77 o

(D) . Tz TG 7 ST e W for € o 9 Wit oew: qed # o)

(E) %A S o e 3R oA < o fofehTel § 'l I 9T i 3 S a1 ooy A 2
e e U feerel o 9 T SR 1 T I

(1) @ (A), () (O

@ % (4) () [D)
() (A), (8) ([
W ¥ (B) () (D

Options:

[ o O e

878270117485. 1
878270117486. 2
878270117487. 3

878270117488. 4

Question Number : 113 Question Id : 87827029825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270117489. 1
878270117490. 2
878270117491.3
878270117492. 4

Question Number : 113 Question Id : 87827029825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270117489. 1
878270117490. 2
878270117491.3
878270117492. 4

Question Number : 114 Question Id : 87827029826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘gt o el | A E

(A) "3 o el oherel U el I FeRl T, M Sl 1 T S g

(B) AT T A YRG H TR TR F

() Toord <f Wil 31 o W’ e o €, 9 o ol o Y e
(D) WO 7' TEear i foie o wieamfa i W @ A 0 9 T

(

E) @A H A1 1 et S 1 1 T I STAR <l o W R Gl 1 & eH o GH
H qwY FwE |

e few T fereret # B W S T
(1) = (A), () (E)

(2) d (A), (B) D)

() % (@), (C) (D)

(4) ¥ (B), (D), (E)

Options :

878270117493. 1

878270117494, 2

878270117495. 3

878270117496. 4

Question Number : 114 Question Id : 87827029826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘gt o el | A E

(A) "3 o el oherel U el I FeRl T, M Sl 1 T S g

(B) AT T A YRG H TR TR F

() Toord <f Wil 31 o W’ e o €, 9 o ol o Y e
(D) WO 7' TEear i foie o wieamfa i W @ A 0 9 T

(

E) @A H A1 1 et S 1 1 T I STAR <l o W R Gl 1 & eH o GH
H qwY FwE |

e few T fereret # B W S T
(1) = (A), () (E)

(2) d (A), (B) D)

() % (@), (C) (D)

(4) ¥ (B), (D), (E)

Options :

878270117493. 1

878270117494, 2

878270117495. 3

878270117496. 4

Question Number : 115 Question Id : 87827029827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"UF w7 ' F SR - €

(A) el 1 SR 3 H] Sff Bl Heris 3w fora o e Uit fobn

(B) oy 921" Hiedi H & feren T AN A W & o H o @

(C) 'k 3 TRRM ' T Teig A g fetfie 3 o

(D) "R % Tl T - TR ST ST | fora

(E) &5 YA H T A6 o WA W §N' o e S S § 86 W T ga |
e feu o fomred @ W@ SR B T FIC

Options:

878270117497. 1
878270117498. 2
878270117499. 3
878270117500. 4

Question Number : 115 Question Id : 87827029827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"UF w7 ' F SR - €

(A) el 1 SR 3 H] Sff Bl Heris 3w fora o e Uit fobn

(B) oy 921" Hiedi H & feren T AN A W & o H o @

(C) 'k 3 TRRM ' T Teig A g fetfie 3 o

(D) "R % Tl T - TR ST ST | fora

(E) &5 YA H T A6 o WA W §N' o e S S § 86 W T ga |
e feu o fomred @ W@ SR B T FIC

Options:

878270117497. 1
878270117498. 2
878270117499. 3
878270117500. 4

Question Number : 116 Question Id : 87827029828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
-1 Et-11

et &=
(A) WRETS () L
(B) @Kt (I)  STemR
(C) Zemi (IT)  STeTeR
(D) Haw (IV) A

= feu o fosredi § | W& I 1 = i
() (A)ID, (B)-(1), (C)-(IV), (D)-(IL)

(2)  (A)-(ID), (B)-(IV), (CO)-(L), (D)~(III)

(3) (AL, (B)-(ILD), (©)-(IV), (D)-(D)

(4) (A1, (B)-(I), (O)-(), (D)-(IV)

Options :

878270117501. 1

878270117502. 2

878270117503. 3

878270117504. 4

Question Number : 116 Question Id : 87827029828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
-1 Et-11

et &=
(A) WRETS () L
(B) @Kt (I)  STemR
(C) Zemi (IT)  STeTeR
(D) Haw (IV) A

= feu o fosredi § | W& I 1 = i
() (A)ID, (B)-(1), (C)-(IV), (D)-(IL)

(2)  (A)-(ID), (B)-(IV), (CO)-(L), (D)~(III)

(3) (AL, (B)-(ILD), (©)-(IV), (D)-(D)

(4) (A1, (B)-(I), (O)-(), (D)-(IV)

Options :

878270117501. 1

878270117502. 2

878270117503. 3

878270117504. 4

Question Number : 117 Question Id : 87827029829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gat-1 § Gt-11 1 e i
-1 q=i-11

ATeAr=eh T
(A) TEGER arSTt () gHE Hehre
(B) vAMH<I T (I) = |ifed : 9T 9H
(C) weEryHrR fgad (1) fe=m @iR sFyfa
(D) =% (IV) Erfecarer=m

A feu U fereredi H | W& ST F = HIST ;
(1) (A)-(ID), (B)-(IV), (C)-(I), (D)-(LLT)

(2) (A, (B)-(1), (C)~(IIL), (D)-(IV)

(3)  (A)-ID), (B)-(IV), (C)-(111), (D)-(T)

(4) (A)-(I), (B)-(1V), (O)-(1), (D)-(IT)

Options :

878270117505. 1

878270117506. 2

878270117507. 3

878270117508. 4

Question Number : 117 Question Id : 87827029829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gat-1 § Gt-11 1 e i
-1 q=i-11

ATeAr=eh T
(A) TEGER arSTt () gHE Hehre
(B) vAMH<I T (I) = |ifed : 9T 9H
(C) weEryHrR fgad (1) fe=m @iR sFyfa
(D) =% (IV) Erfecarer=m

A feu U fereredi H | W& ST F = HIST ;
(1) (A)-(ID), (B)-(IV), (C)-(I), (D)-(LLT)

(2) (A, (B)-(1), (C)~(IIL), (D)-(IV)

(3)  (A)-ID), (B)-(IV), (C)-(111), (D)-(T)

(4) (A)-(I), (B)-(1V), (O)-(1), (D)-(IT)

Options :

878270117505. 1

878270117506. 2

878270117507. 3

878270117508. 4

Question Number : 118 Question Id : 87827029830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geit-1 9 geit-11 1 A i
Tell-1 qHi-11

SHTSIITTEAT T
(A) SIS HIH () 2 % g
(B) W sHwE (I Ufseswa forfefEsH
(C) ™ (1) wEEfeem
(D) =T, U, R=Ed (IV) ‘T 3 &F qregd’

A= fou U fosredi H 4 W& IO 1 = HI
(L) (A)IV), (B)-(I), (C)-(II), (D)~(IL)

(2) (A1), (B)-(ID), (©)-@), (D)-(IV)

(3)  (A)-(IID), (B)-(1D), (©)-(I), (D)-(IV)

(4) (A)-(I), (B)-(1), (O)-(1V), (D)-(IT)

Options :

878270117509. 1

878270117510. 2

878270117511. 3

878270117512. 4

Question Number : 118 Question Id : 87827029830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geit-1 9 geit-11 1 A i
Tell-1 qHi-11

SHTSIITTEAT T
(A) SIS HIH () 2 % g
(B) W sHwE (I Ufseswa forfefEsH
(C) ™ (1) wEEfeem
(D) =T, U, R=Ed (IV) ‘T 3 &F qregd’

A= fou U fosredi H 4 W& IO 1 = HI
(L) (A)IV), (B)-(I), (C)-(II), (D)~(IL)

(2) (A1), (B)-(ID), (©)-@), (D)-(IV)

(3)  (A)-(IID), (B)-(1D), (©)-(I), (D)-(IV)

(4) (A)-(I), (B)-(1), (O)-(1V), (D)-(IT)

Options :

878270117509. 1

878270117510. 2

878270117511. 3

878270117512. 4

Question Number : 119 Question Id : 87827029831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
-1 -1

LE] PEAMERS
(A) HeERY () AR
(B) HwSIH Shifd GHITHT (I feeedt
(C) ¥R AKE (1) VTESTergR
(D) e (IV) 3T

= feu o fosredi § | W& I 1 = i
() (A)I), (B)-(1D), (©)-(IV), (D)-(I)

(2)  (A)-(ID), (B)-(IV), (CO)-(1D), (D)-(T)

(3) (A1), (B)-(IV), (O)-(I), (D)-(IIL)

(4) (A1, (B)-(I), (O-(1V), (D)-(II)

Options :

878270117513. 1

878270117514. 2

878270117515. 3

878270117516. 4

Question Number : 119 Question Id : 87827029831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
-1 -1

LE] PEAMERS
(A) HeERY () AR
(B) HwSIH Shifd GHITHT (I feeedt
(C) ¥R AKE (1) VTESTergR
(D) e (IV) 3T

= feu o fosredi § | W& I 1 = i
() (A)I), (B)-(1D), (©)-(IV), (D)-(I)

(2)  (A)-(ID), (B)-(IV), (CO)-(1D), (D)-(T)

(3) (A1), (B)-(IV), (O)-(I), (D)-(IIL)

(4) (A1, (B)-(I), (O-(1V), (D)-(II)

Options :

878270117513. 1

878270117514. 2

878270117515. 3

878270117516. 4

Question Number : 120 Question Id : 87827029832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



geit-1 § Gt-11 1 fAer shifs;

gai-1 Het-11
ehferar vferrar o fera /ehferar-Twen
(A) faavm fFm @ oot e () 9w |
A | i A 9 Fg-He ||
(B) THE—2M IR F <9k (I) 39
YEE-3F ¢ T% % U
Q) dHMFi e () foewerg
HId o I8 =X T8l &

(D) ig 5Te 1 €4 &, S 99 <, (IV) |agel & = ST
e vame HY ©, Iide ToH B

T feu Tu faeredi # 9 W FO =99 F e

(1) (A)-ID), (B)-(ILD), (C)-(IV), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)-(L), (D)-(1I)

(3)  (A)HIV), (B)-(I), (C)-(1I), (D)~(11I)

(4) (A)AI), (B)-(I), (C)-(IV), (D)-(II)

Options:

878270117517. 1

878270117518. 2

878270117519. 3

878270117520. 4

Question Number : 120 Question Id : 87827029832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



geit-1 § Gt-11 1 fAer shifs;

gai-1 Het-11
ehferar vferrar o fera /ehferar-Twen
(A) faavm fFm @ oot e () 9w |
A | i A 9 Fg-He ||
(B) THE—2M IR F <9k (I) 39
YEE-3F ¢ T% % U
Q) dHMFi e () foewerg
HId o I8 =X T8l &

(D) ig 5Te 1 €4 &, S 99 <, (IV) |agel & = ST
e vame HY ©, Iide ToH B

T feu Tu faeredi # 9 W FO =99 F e

(1) (A)-ID), (B)-(ILD), (C)-(IV), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)-(L), (D)-(1I)

(3)  (A)HIV), (B)-(I), (C)-(1I), (D)~(11I)

(4) (A)AI), (B)-(I), (C)-(IV), (D)-(II)

Options:

878270117517. 1

878270117518. 2

878270117519. 3

878270117520. 4

Question Number : 121 Question Id : 87827029833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
el I

Hafa (' eretem = 3T’ &6 uT ) ol
(A) =3I () s
(B) i (I)  Tehm
(C) (III) e
(D) e (Iv) feret

= feu 7o foredi § | W& I 1 = ST
() (A, (B)-(I), (O)-(1V), (D)-(IL)

(2)  (A)I), (B)-(IV), (C)-(I), (D)-(IT)

(3)  (A)-IV), (B)-(IL), (O)(IL), (D)-(D)

(4) (A, (B)~(1), (O-(IV), (D)-(IT)

Options :

878270117521. 1

878270117522. 2

878270117523. 3

878270117524. 4

Question Number : 121 Question Id : 87827029833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
el I

Hafa (' eretem = 3T’ &6 uT ) ol
(A) =3I () s
(B) i (I)  Tehm
(C) (III) e
(D) e (Iv) feret

= feu 7o foredi § | W& I 1 = ST
() (A, (B)-(I), (O)-(1V), (D)-(IL)

(2)  (A)I), (B)-(IV), (C)-(I), (D)-(IT)

(3)  (A)-IV), (B)-(IL), (O)(IL), (D)-(D)

(4) (A, (B)~(1), (O-(IV), (D)-(IT)

Options :

878270117521. 1

878270117522. 2

878270117523. 3

878270117524. 4

Question Number : 122 Question Id : 87827029834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G-I § gEi-11 =1 fAem s

qat-1 Tell-11
C DR e
(A) el 9k Sl Ege i 9 Yed 9, (I) =hTET =1 s2aR

AT I FIUD F1 TSN IS
o, I &% B H A1l v

T & ° FE 9o 99 T
(B) TUH & @M-UIare] FI THIR AHL (I dfig
g7 g3 el W 9F b g |
(C) Terdt =i &1 7 s Afe e €, (I) I H &

A SRt 7 YT, THA Stk
1 e 30y fawe @, g% ot e 2
(D) Tk 9 T&T Fefeheh o el qF (IV) &
BTH M| 9F TR T S W W
fort €1 e T ¥ 2
= fou mu faswed § § W& ST 1 999 FifT
(1 (A1), (B)-(1L), (C)-(11), (D)-(IV)
(2 (A)-(IV), (B)-(D), (C)-(I), (D)-(IT)
(3)  (A)-(IV), (B)-(I), (C)-(I), (D)-(1II)
4)  (A)-(IV), (B)-(II), (C)-(11I), (D)-(L)
Options :
878270117525. 1
878270117526. 2
878270117527. 3

878270117528. 4

Question Number : 122 Question Id : 87827029834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G-I § gEi-11 =1 fAem s

qat-1 Tell-11
C DR e
(A) el 9k Sl Ege i 9 Yed 9, (I) =hTET =1 s2aR

AT I FIUD F1 TSN IS
o, I &% B H A1l v

T & ° FE 9o 99 T
(B) TUH & @M-UIare] FI THIR AHL (I dfig
g7 g3 el W 9F b g |
(C) Terdt =i &1 7 s Afe e €, (I) I H &

A SRt 7 YT, THA Stk
1 e 30y fawe @, g% ot e 2
(D) Tk 9 T&T Fefeheh o el qF (IV) &
BTH M| 9F TR T S W W
fort €1 e T ¥ 2
= fou mu faswed § § W& ST 1 999 FifT
(1 (A1), (B)-(1L), (C)-(11), (D)-(IV)
(2 (A)-(IV), (B)-(D), (C)-(I), (D)-(IT)
(3)  (A)-(IV), (B)-(I), (C)-(I), (D)-(1II)
4)  (A)-(IV), (B)-(II), (C)-(11I), (D)-(L)
Options :
878270117525. 1
878270117526. 2
878270117527. 3

878270117528. 4

Question Number : 123 Question Id : 87827029835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el & eI 1 fier Fif;
T Tl

L] Hae

(A) T () T, et ot e 31 ol 4 &1

(B) FWIE () 73 3 a6 i T T W W
|

() @<Td () 75 21 & TS ¢ | S A S T o feft 7w
AV ¢

(D) Wi (V) fe e = o1 o fasfiomn o, &R el © oft 0
A

4 fou U foeredl # B WG T 9 H

(1) (AHI), (BHLV), (CHID, (D))

(@ (AHIV), (B)-{), (CHI, (D)}

() (AHIV), (B)1), (CHII), (DHIm)

() (AHIV), (B){IT), (C-ImD, (D)1

Options:

878270117529. 1
878270117530. 2
878270117531. 3

878270117532. 4

Question Number : 123 Question Id : 87827029835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el & eI 1 fier Fif;
T Tl

L] Hae

(A) T () T, et ot e 31 ol 4 &1

(B) FWIE () 73 3 a6 i T T W W
|

() @<Td () 75 21 & TS ¢ | S A S T o feft 7w
AV ¢

(D) Wi (V) fe e = o1 o fasfiomn o, &R el © oft 0
A

4 fou U foeredl # B WG T 9 H

(1) (AHI), (BHLV), (CHID, (D))

(@ (AHIV), (B)-{), (CHI, (D)}

() (AHIV), (B)1), (CHII), (DHIm)

() (AHIV), (B){IT), (C-ImD, (D)1

Options:

878270117529. 1
878270117530. 2
878270117531. 3

878270117532. 4

Question Number : 124 Question Id : 87827029836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
-1 -1

T gitteh faen
(A) TR R () HEEo
(B) SiteH 9fify (I) 3948
(C) et WHge i 311 (Ill) kel §Ue
(D) T Heg 9454 (v) faeg

= Teu U fereredi § | W& IO 1 FIH HifAC
() (A)D), (B}-(IV), (C)-(II), (D)-(IL)

(2)  (A)-(D), (B)-(LII), (C)-(IV), (D)-(IT)

(3) (AL, (B)-(ILD), (©)-(IV), (D)-(D)

(4) (A1, (B)-(1V), (O)-(1L), (D)-(I)
Options :

878270117533. 1

878270117534. 2

878270117535. 3

878270117536. 4

Question Number : 124 Question Id : 87827029836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
-1 -1

T gitteh faen
(A) TR R () HEEo
(B) SiteH 9fify (I) 3948
(C) et WHge i 311 (Ill) kel §Ue
(D) T Heg 9454 (v) faeg

= Teu U fereredi § | W& IO 1 FIH HifAC
() (A)D), (B}-(IV), (C)-(II), (D)-(IL)

(2)  (A)-(D), (B)-(LII), (C)-(IV), (D)-(IT)

(3) (AL, (B)-(ILD), (©)-(IV), (D)-(D)

(4) (A1, (B)-(1V), (O)-(1L), (D)-(I)
Options :

878270117533. 1

878270117534. 2

878270117535. 3

878270117536. 4

Question Number : 125 Question Id : 87827029837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki

-1 -1

e hi 3R o LCES
(A) THET () wel
(B) e @ fmioT foe (I we Il
(C) <WER H HYM d (I) ET 11
(D) ¥ 5] 1 IS Fe (IV) @IV

= feu o fosredi § | W& I 1 = i
() (A)IV), (B)-(1D), (O)-(I1L), (D)-(1)
(2)  (A)-(), (B)-(I), (C}(IV), (D)-(IT)
(3) (A, (B)-(1D), (©O)-(IV), (D)-(D)
4)  (A)HIV), (B)-(D), (C)-(IL), (D)-(IT)
Options :
878270117537. 1
878270117538. 2
878270117539. 3

878270117540. 4

Question Number : 125 Question Id : 87827029837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki

-1 -1

e hi 3R o LCES
(A) THET () wel
(B) e @ fmioT foe (I we Il
(C) <WER H HYM d (I) ET 11
(D) ¥ 5] 1 IS Fe (IV) @IV

= feu o fosredi § | W& I 1 = i
() (A)IV), (B)-(1D), (O)-(I1L), (D)-(1)
(2)  (A)-(), (B)-(I), (C}(IV), (D)-(IT)
(3) (A, (B)-(1D), (©O)-(IV), (D)-(D)
4)  (A)HIV), (B)-(D), (C)-(IL), (D)-(IT)
Options :
878270117537. 1
878270117538. 2
878270117539. 3

878270117540. 4

Question Number : 126 Question Id : 87827029838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



mwﬁfe'ﬂ‘ﬁw’%ﬁﬁﬂﬁ«rﬁaﬁmzr&ﬁmmwaﬁm%ﬁﬁm%ﬂﬁm:
(4) 3¢

®) @w

() fﬂc'_rﬁ

(D) W

(E) rfmﬂ

A9 feu U foedl o § W SRR A 7 A
(1) (8) (D), (A), (E) ©)

@ @) ), &), (@A) €
(@) D) (A), ®) ), €
(4 (B) (4), (D), E) ©)
Options:
878270117541. 1
878270117542. 2
878270117543. 3

878270117544. 4

Question Number : 126 Question Id : 87827029838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



mwﬁfe'ﬂ‘ﬁw’%ﬁﬁﬂﬁ«rﬁaﬁmzr&ﬁmmwaﬁm%ﬁﬁm%ﬂﬁm:
(4) 3¢

®) @w

() fﬂc'_rﬁ

(D) W

(E) rfmﬂ

A9 feu U foedl o § W SRR A 7 A
(1) (8) (D), (A), (E) ©)

@ @) ), &), (@A) €
(@) D) (A), ®) ), €
(4 (B) (4), (D), E) ©)
Options:
878270117541. 1
878270117542. 2
878270117543. 3

878270117544. 4

Question Number : 127 Question Id : 87827029839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T TR Y & SRR fe) wfed % shveman & FrefeR oftem T A v 8 A F o
ofisy

(A) T & fot e %1 STeieo 3l
B) Fomermite = : fewl Wifeed o oreeh

C) . e : & T aFfiergen feretet it g
D) TREH. : Ufeed 4 fewdt fertn

B) ol = : fet wifees o aqifen ofeer

1 feu T ol W 9 W@ S 1 T

0 ©) D) E @), (4)

@ (), ©, D) E) (4)

() (©) (D), () E) ()

@ (C) (D) (4) (8), E)

(
(
(
(

Options :

878270117545. 1
878270117546. 2
878270117547.3

878270117548. 4

Question Number : 127 Question Id : 87827029839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T TR Y & SRR fe) wfed % shveman & FrefeR oftem T A v 8 A F o
ofisy

(A) T & fot e %1 STeieo 3l
B) Fomermite = : fewl Wifeed o oreeh

C) . e : & T aFfiergen feretet it g
D) TREH. : Ufeed 4 fewdt fertn

B) ol = : fet wifees o aqifen ofeer

1 feu T ol W 9 W@ S 1 T

0 ©) D) E @), (4)

@ (), ©, D) E) (4)

() (©) (D), () E) ()

@ (C) (D) (4) (8), E)

(
(
(
(

Options :

878270117545. 1
878270117546. 2
878270117547.3

878270117548. 4

Question Number : 128 Question Id : 87827029840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FIEHN o 7O e T Fermferd # Ted § 918 % %0 H e ;

4 feu U forredi | | WE ST R =H FC
(1) (A), ©), (B), D), (E)

(2) () (B), (A), (D), (C)
(3) (&), (), (Q), (A) (D)
@) (&), (B), (D), ©) (A)
Options:

878270117549. 1
878270117550. 2
878270117551. 3

878270117552. 4

Question Number : 128 Question Id : 87827029840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FIEHN o 7O e T Fermferd # Ted § 918 % %0 H e ;

4 feu U forredi | | WE ST R =H FC
(1) (A), ©), (B), D), (E)

(2) () (B), (A), (D), (C)
(3) (&), (), (Q), (A) (D)
@) (&), (B), (D), ©) (A)
Options:

878270117549. 1
878270117550. 2
878270117551. 3

878270117552. 4

Question Number : 129 Question Id : 87827029841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR e T ST B el senal 91 veel § a1 % W ¥ et #ifaw)
(A) W HHIS B T

(B) e, HETH A ofers forafemerd i Te

(C)  Hirelt fonen % uer & el 1 WY

(D) forer = <0 fefmed 11 &=

() =TT

T fau o fowredi § 9 e SR 1 99 Hifo

1) (B) (A) (B) D) )

Options:

878270117553. 1
878270117554. 2
878270117555. 3

878270117556. 4

Question Number : 129 Question Id : 87827029841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR e T ST B el senal 91 veel § a1 % W ¥ et #ifaw)
(A) W HHIS B T

(B) e, HETH A ofers forafemerd i Te

(C)  Hirelt fonen % uer & el 1 WY

(D) forer = <0 fefmed 11 &=

() =TT

T fau o fowredi § 9 e SR 1 99 Hifo

1) (B) (A) (B) D) )

Options:

878270117553. 1
878270117554. 2
878270117555. 3

878270117556. 4

Question Number : 130 Question Id : 87827029842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sy o' e 6 o e ST g Bl o % oUW R, Teel B 4 F 9§ TR
(A) A

it % & 9 -0 AT §
(B) ¥ B

o g T o e Y
(C) T wHM

A ¢, el T8 T
(D) WHART-FA-TT

& |

ﬁ@w%‘

Tech-ahiH- el WA - ) -
i feu T fomredl § § W IR T FIC ;
) ©) (A) &), D), (6)
@ () (&) ) (@) (6)
(®) (O) E), (A), ©), (6)
() (©) E) @A) (

4) (D) (), (A), (B), (C)

)
Options:

878270117557. 1
878270117558. 2
878270117559. 3

878270117560. 4

Question Number : 130 Question Id : 87827029842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sy o' e 6 o e ST g Bl o % oUW R, Teel B 4 F 9§ TR
(A) A

it % & 9 -0 AT §
(B) ¥ B

o g T o e Y
(C) T wHM

A ¢, el T8 T
(D) WHART-FA-TT

& |

ﬁ@w%‘

Tech-ahiH- el WA - ) -
i feu T fomredl § § W IR T FIC ;
) ©) (A) &), D), (6)
@ () (&) ) (@) (6)
(®) (O) E), (A), ©), (6)
() (©) E) @A) (

4) (D) (), (A), (B), (C)

)
Options:

878270117557. 1
878270117558. 2
878270117559. 3

878270117560. 4

Question Number : 131 Question Id : 87827029843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 3t vl e 3 e sl 8 e 8 o % W 4, ved @ e F A

A e o o © 4 e S A = A
(M (E) ®) (@A), D) €

Options:

878270117561. 1
878270117562. 2
878270117563. 3

878270117564. 4

Question Number : 131 Question Id : 87827029843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 3t vl e 3 e sl 8 e 8 o % W 4, ved @ e F A

A e o o © 4 e S A = A
(M (E) ®) (@A), D) €

Options:

878270117561. 1
878270117562. 2
878270117563. 3

878270117564. 4

Question Number : 132 Question Id : 87827029844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“uten %' SUATE F WHOT o YT H, TEA § 91¢ %k FH H R ;
(A) 939

(B) H & ()

(C) el gey

(D) forms 1 H@-feamg

(E) SiehTerH SIEeRA™

= feu U fowedl § 9 W@ SO 1 9949 FINT

(1) (D) (A), (©), (E), (B)

(2) (E) (B), (A), (D), (C)
(3)  (©) (A), (E), (B), (D)
@) (B) (E), (D), (A), (©)

Options:

878270117565. 1
878270117566. 2
878270117567. 3

878270117568. 4

Question Number : 132 Question Id : 87827029844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“uten %' SUATE F WHOT o YT H, TEA § 91¢ %k FH H R ;
(A) 939

(B) H & ()

(C) el gey

(D) forms 1 H@-feamg

(E) SiehTerH SIEeRA™

= feu U fowedl § 9 W@ SO 1 9949 FINT

(1) (D) (A), (©), (E), (B)

(2) (E) (B), (A), (D), (C)
(3)  (©) (A), (E), (B), (D)
@) (B) (E), (D), (A), (©)

Options:

878270117565. 1
878270117566. 2
878270117567. 3

878270117568. 4

Question Number : 133 Question Id : 87827029845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST A T FEA H S T Bl Tl § 9T o A W Safid e ;
(A) TeeR foet B o8 RPN 1 B W e ek W off | e g g 90 R g
(B) € i aTel Bl a1, qoied Tefed &, T S aael 8l |
(C) 1T 19 T S | 3 S 3 S|
(D) T % T ST Wrell | WY W SRa S & | e e S |
(E) ¢ o0l Sff STl forfl 09 ¢ 371 & ST 19 1 5 gy @ & |

A T S S, R B, e 9 07
e feu o fasmedi 7 9 WE AT H T HiorC :
(1) (E), (A), (O, D), (B)
(@ (), (B), (A) D), B)
) (©), (A), (B), @), (B)
4 (4), ©), (B), E) (D)

©)
(€), (A),
(
Options :
878270117569. 1
878270117570. 2
878270117571.3

878270117572. 4

Question Number : 133 Question Id : 87827029845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST A T FEA H S T Bl Tl § 9T o A W Safid e ;
(A) TeeR foet B o8 RPN 1 B W e ek W off | e g g 90 R g
(B) € i aTel Bl a1, qoied Tefed &, T S aael 8l |
(C) 1T 19 T S | 3 S 3 S|
(D) T % T ST Wrell | WY W SRa S & | e e S |
(E) ¢ o0l Sff STl forfl 09 ¢ 371 & ST 19 1 5 gy @ & |

A T S S, R B, e 9 07
e feu o fasmedi 7 9 WE AT H T HiorC :
(1) (E), (A), (O, D), (B)
(@ (), (B), (A) D), B)
) (©), (A), (B), @), (B)
4 (4), ©), (B), E) (D)

©)
(€), (A),
(
Options :
878270117569. 1
878270117570. 2
878270117571.3

878270117572. 4

Question Number : 134 Question Id : 87827029846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



' ST SR e W SIS AW i Uil i TSl § 918 o % H oRmE
(A) =8 Gk dicl, §Tel, Gal qerkl B S
T 91 7 91¢ §HE, 7 T ¢ I
B) WIARHT A FS f I
Uel w1 Y, Efed - S - = A R
(C) @Il € el | & 3 A o o
9% 9 R e A g2 IR A 398, e
(D) o9 & #19 3R § e

9 WU € TF F s F el
(E) TS et o ot € 121 & ad
el foFdl % @t © Tl & ard
A fou U fommedl § | W& IO 1 =999 Hif9
1) D), B), (©), (A), (B)
2) (D), (B), (C), (A), (E)
@) (D), ([©), (B), (A), (E)
@) (D), (©), (A), (B), (E)
Options:

878270117573. 1
878270117574. 2
878270117575. 3

878270117576. 4

Question Number : 134 Question Id : 87827029846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



' ST SR e W SIS AW i Uil i TSl § 918 o % H oRmE
(A) =8 Gk dicl, §Tel, Gal qerkl B S
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B) WIARHT A FS f I
Uel w1 Y, Efed - S - = A R
(C) @Il € el | & 3 A o o
9% 9 R e A g2 IR A 398, e
(D) o9 & #19 3R § e

9 WU € TF F s F el
(E) TS et o ot € 121 & ad
el foFdl % @t © Tl & ard
A fou U fommedl § | W& IO 1 =999 Hif9
1) D), B), (©), (A), (B)
2) (D), (B), (C), (A), (E)
@) (D), ([©), (B), (A), (E)
@) (D), (©), (A), (B), (E)
Options:

878270117573. 1
878270117574. 2
878270117575. 3

878270117576. 4

Question Number : 135 Question Id : 87827029847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SE o SATER frefated fagsRi 1 98d 9 916 % %9 H ey ;
(A) Toerent T

(B) EeIIyEmR fgae

(C) HER quifse

(D) FaTTE T

(B) THER A

9 feu o fasredi § 9 TE SO 1 99 FIT

(1) (E) (O), (B), D), (A)

2)  (B), (©), (B), (A), (D)

(3) (C), (E), (B), (A), (D)

4 (©), (B), (E), (D), (A)
Options:

878270117577. 1
878270117578. 2
878270117579. 3

878270117580. 4

Question Number : 135 Question Id : 87827029847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SE o SATER frefated fagsRi 1 98d 9 916 % %9 H ey ;
(A) Toerent T

(B) weTawErE fgerct

(C) TR YUifee

(D) FAT

(E) TWES Y

1 feu T fasredi § 9 W@ SO 1 =99 FN

(1) (E) (©), (B), (D), (A)

2) (E) (©), (B), (A), (D)
(3) (C), (E), (B), (A), (D)
4) (©), (B), (E), (D), (A)

Options:

878270117577.1
878270117578. 2
878270117579. 3

878270117580. 4

Question Number : 136 Question Id : 87827029848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 & o few 0 € e e (A) % 0 A feffi € 1 g S SO (R) F B A €

AR (A) : 9 1986 ¥ ‘Waviicr iR §9' 1 W g S I o 36k AfF Afav @
Taf e g

FROTR): 1936 W YA ST HA WG 1 T YA G4 7 g T

TR Fo o e A, A fou o forred A R il S A o A

(1) @ (A) 3R (R) T ¢ T (R), (A) %I T8 2 &

() T (A) R (R) T & A (R), (A) F TR SR T

() (A)FE G o (R) 79 €

(4) (A) 5 & W (R) ¥ &



Options :

878270117581. 1
878270117582. 2
878270117583. 3
878270117584. 4

Question Number : 136 Question Id : 87827029848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 2 o few 0 €. v e (A) % w9 ¥ forf € 9 S 30 WO (R) F E9 A

AR (A) : 7 1936 ¥ "woviicr g F' ) T g S I o 36 A afev @
HHTa Jee g

FAOTR): T 1936 H VI SO Ho HU B AW ARG Ta 7 g |

T FoA & o W, A fou o feredt B @ WE IR T A

(1) @ (A) 3R (R) T ¢ 8T (R), (A) %I 98 e &

(2) T (A) 3 (R) ¥ € CifeR (R), (A) %I HE e T €

(3) (A)¥9 T, o (R) 79 ©

(4) (A) o & @A (R) 57 @

Options :

878270117581. 1

878270117582. 2

878270117583. 3

878270117584. 4

Question Number : 137 Question Id : 87827029849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) IR A ¢, T B 1 T ©

Options:

878270117585. 1
878270117586. 2
878270117587. 3
878270117588. 4

Question Number : 137 Question Id : 87827029849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4 ¢ FH UM e
T (1): A % 0, O, AT AR Haw A T § I S A dn
oI Wiewd Wl &

T (1) : o 1 T Wil %1 Sl o HEieer e ‘26 O W gl
TG o & A §, A fow T forredt # @ W S A 9 F

(1) U1 BRI TR
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(3) R L H ¢, ©ifé o 11 97 2

(4) IR A ¢, T BT ©

Options :

878270117585. 1



878270117586. 2
878270117587. 3

878270117588. 4

Question Number : 138 Question Id : 87827029850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el 3 FA UM g ;

FIT (1) : TS H Ho He' ¥ Teden SR gHd I e 8l

T (1) : T SR T TSI - T el iR WY 5 foreR it st TRl 6 €
S FUA % e §, A fou T fawed § € wg I 9 Fif

(1) o 1 3R Fem 11 i T &

(2) H 1R FA S o0 ©

(

(

3) WU 1 T & O e 11 3 &
4) HYT 1 HFA &, AR FUF 11T €
Options :
878270117589. 1
878270117590. 2
878270117591. 3
878270117592. 4

Question Number : 138 Question Id : 87827029850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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FIT (1) : TS H Hfo He' ¥ T SR gH ek B
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(4) HUT 1 FA &, AR FOF 11T &
Options:

878270117589. 1

878270117590. 2

878270117591. 3

878270117592. 4

Question Number : 139 Question Id : 87827029851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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FUF (I1) : "%, 0 A 1 0 S, T TR 6, Heg ¢ - % FH TGRS o 0 A
#T

I Fo o e, 3 fow T ot B ¥ Wl S T i

(1) U1 BRI TR

() FRIMFW T 999 ¢

(3) R L H ¢, ©ifé o 11 97 2

(4) U1 &, A FAHA &

Options :

878270117593. 1

878270117594. 2



878270117595. 3

878270117596. 4

Question Number : 139 Question Id : 87827029851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 3 FA UM E

FIA (1) : EH' F A T AR G § Fad v v # AR

A (I1) : o T, S FE 0 <R, 9 T <, g 6 - 9 HU ORI % T A
el

R Fo o e 5, A fow o feeredt H ¥ wl S T A

1) HU 1SR BRI T

) YR 1 3R R 11 G I &

) W1 T €, I w11

4) TR &, e KO &

e

(
(
(
(
Options :

878270117593. 1
878270117594. 2

878270117595. 3

878270117596. 4

Question Number : 140 Question Id : 87827029852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



QP UM E

TR (1): ' HET AT ST e e T & fen 8w ww @ & fo fovarmem
& R ¢ |

R () : TS, VRIS SR W e o T 9 1 % @) T T S Al o W 81 - 7

LEHELEFE R e R R R ]

TR A o St H, 7 10 T el § W e I A 7 A

(1) RIS BRI T2

() FRIIMFWI T 959 ¢

(3) 1 HA ¢, Cifé e 11 997 2

(4) R 1 A ¢, T B 1T ©

Options:

878270117597. 1
878270117598. 2
878270117599. 3

878270117600. 4

Question Number : 140 Question Id : 87827029852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4 ¢ FH UM e

TR (1) ;i ST’ 3 SRR e e e # e 37 W T @y & fou favaame
& R |

R (L) : TS, VRS S WO N o T o 1 % &1 T T S Al o W gl - 7

el A SR a2

TR A & e §, 79 fev mu fowedi A 4 0@ S T i

(1) R Lo BRI 9 &

(2) YR 1 3 R 11 S 5 &

() O 1T ¢, Tl e 11 e ©

(4) R A ¢, T BT ©



Options :

878270117597. 1
878270117598. 2
878270117599. 3
878270117600. 4

Sub-Section Number : 2
Sub-Section Id : 8782701279
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827029853 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

reforfas afamon &t s ufeu 3l waft Wl o S it
] of el T o0 91| o, et I e o Fol A of o1 & 71 | 390 Ok 1 ATl 1 9 ST
R form i T R e e W o g - e T o w0 of e g el
¥ feeatt il 1 0 STe Ten SR e vl o <0 e e gen, S 5 AW e aen T
B 9 | 5T T ST FI o feges e o e o e orien 3 9t fven ok | e H
et e 3 0 W el 3 g 8 e T <K § W Hd T ) o i e i
Tl ol | T ST TEwIT 99 7 ¢ 4 39 I o 701 A FHoa SR S i e i S o g
3 o e o e o T ) e T | S T e o T Tien o ferr ) e
firen, < 9 T o foeme &1 0 Ufeies W6 o)

e I 3 0 % - o o, - et o v i am e fom | 7 aien fafv
TR T | T 99 T G T 1 S R W R S A a4 - e, e o %
TR TR 1 e T, T Y, YT 3 O et e, R, i e A fe 09, 7 e
T O S St o ol T e W o W . oo e %, 7 o s 0 e v et
e, 3 foram 0 R o ey 8 A o 3 e € 9% 91 e, o o, et o o
& SR el o v | ST ST T ) 0 8 A W o SR e o O e e e
o % 9 T ST Qs 3eed o foy & 4|



Sub questions

Question Number : 141 Question Id : 87827029854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ST SATeoa h ATER e AR 1 IR gal
(1) STl § & a1l Affeanadi & s
(2) el H T8 9Tl Gl & o
(3) YU H A 9 3= o ok Wi
4) TR A T o F-faferdi-se s & s
Options :
878270117601. 1
878270117602. 2
878270117603. 3

878270117604. 4

Question Number : 142 Question Id : 87827029855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IRH AT % SR feRT Ao fereeh! H h G4 A o412
(1) Z¥aX ol GOl &l
(2) TSI HeH

(3) Gl I H H

(4) HIA I G R

Options:
878270117605. 1
878270117606. 2

878270117607. 3



878270117608. 4

Question Number : 143 Question Id : 87827029856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TP STTEE ¥ SRTAR If SHerer ¥ e Rl A e T E
(1) «nfHe o= o Sers[e Sl i Tehdl ohl R i |

(2) 3V % QWA Fah GHE

(3) HHeRIS & STRIYAT ol =aaH T & |

(4) STfewen = fory

Options :

878270117609. 1

878270117610. 2

878270117611. 3

878270117612. 4

Question Number : 144 Question Id : 87827029857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

I ST o AR Frefcifan § 9 T T 3 S § i g i ffie weeyd o7
1) feeet

@

(3) el

(4) T
Options:

878270117613. 1
878270117614. 2

878270117615. 3



878270117616. 4

Question Number : 145 Question Id : 87827029858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ST ST o STTAR e SACTCH o AT ST H 379 B S T T &7

~

(1) ®rEl
(2) aE
(3) HeFd
(4) SEYMEI
Options :

878270117617. 1
878270117618. 2
878270117619. 3

878270117620. 4

Question Id : 87827029853 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension



reforfas afamon &t s ufeu 3l waft Wl o S it
] of el T o0 91| o, et I e o Fol A of o1 & 71 | 390 Ok 1 ATl 1 9 ST
R form i T R e e W o g - e T o w0 of e g el
¥ feeatt il 1 0 STe Ten SR e vl o <0 e e gen, S 5 AW e aen T
B 9 | 5T T ST FI o feges e o e o e orien 3 9t fven ok | e H
oYU T 6 Y W el % el H e qfe AT<ier A TR el T YR A He i
T ot | T SR e 99 7% & % 39 SR % A0 S e o o e e o W g
R e s o e, o S ) A T | S T S o T e o ferer ) oA
firen, < 9 T o foeme &1 0 Ufeies W6 o)

e I 3 0 % - o o, - et o v i am e fom | 7 aien fafv
TR T | T 99 T G T 1 S R W R S A a4 - e, e o %
TR TR 1 e T, T Y, YT 3 O et e, R, i e A fe 09, 7 e
T O S St o ol T e W o W . oo e %, 7 o s 0 e v et
e, 3 foram 0 R o ey 8 A o 3 e € 9% 91 e, o o, et o o
) S i 8 3 | ST ST T A ) A W o SR R T e e S e
o o 719 T Y Tram St S 1 foy e o

Sub questions

Question Number : 141 Question Id : 87827029854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
STH T8 o STIHR Jia TR & TR ol
(1) STelt ® & arel SAfeanadl o s
(2) TSl H w9t 9wl 6 S
(3) WU H T 9 3= o o Wi
(4) TR ¥ w9 FRi-foferdi-2r st & #§ih
Options :
878270117601. 1

878270117602. 2

878270117603. 3



878270117604. 4

Question Number : 142 Question Id : 87827029855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IRF AR h FATEN 9K Hre fFHenT T Fa9S w1 ?
(1) S¥aX o |l &l
(2)  TIST T |l R

(3) Gl I Hal Rl
(4) TIA i T R
Options :

878270117605. 1
878270117606. 2
878270117607. 3

878270117608. 4

Question Number : 143 Question Id : 87827029856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SR e 3 ST R SRR ¥ e i o wfe
(1) «nfHe o= o Sers[e Sl i Tehdl ohl LRI AT |

(2) R F YA G G

(3) YIS B SHAT Hl I=dqH &Y ¢ |

(4) faden =1 fody

Options:

878270117609. 1

878270117610. 2

878270117611. 3



878270117612. 4

Question Number : 144 Question Id : 87827029857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IFT AT o STER FeeEd H § {9 T o Sca | Fi g & i w6
(1) fee

o wm
(3) UGl
(4) TR
Options :

878270117613. 1
878270117614. 2
878270117615. 3

878270117616. 4

Question Number : 145 Question Id : 87827029858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IRH ST o STTAR 9 ARG & T ST 5 o7 e o M = 972
(1) wrE

D)

(
() HEHd
(4) SEYMEI
Options:
878270117617. 1
878270117618. 2

878270117619. 3



878270117620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701280
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827029859 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Freaferfi afarmron & e Wfeu ai wafi Wl o S St

féct o o o T & O o o o 1 W T W W ) | W v
o SR €1 e o o1 T ¢ iR o 6 7 € o s <R, foe, v, e anf
1 7% Wi 21 e 74 70 G0 €| 2 U e 1S i, AT, o 6 T R @ W e
o a9 R g R TR g A1 R IR 7 6 R v S % o € 7 e €
TEFeTES | 8 YT 8 2 9 o 0 W1 1 ek & Fof e oA e o AT feh &1 265 T4 7] &
-l

A SN 3 e ST T 1 W 7 e S € SRl S e o B Rl O e €
TS ] 1 T TG A TR AR & SR TG O o e ) e o W 2
1 fe) ot e <R e 3 W O R 9 e oI SRR e 9 ¢ | S W S
TR R T oram & T S A o e T e fawfi frn o ot i g
A8 € ol 3 ot Tl ol Sl ) - o e R i o e o o 3 e o o
4. &) 31 o ST T A I e

Tt e e T e T %, W e €| O &1 4§ 9 e 6 O % g @ e
T 81 3 R T G o T 5 W e g o & ol e T e -
T e {70 | ok A S SR e T o 3 W 4 € for fe o f 9 e W A
2 ST e Tl & e S o e WRmIeg T 71 o W e, e, gt anfe & f s
1 e oi ot g & 7 foF T | ) el e e e R R
e & W TR % R g g e & o e e % e 6 7 ) 6 v o e

Sub questions



Question Number : 146 Question Id : 87827029860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

IFEE e & AR fe<t # forg fama =01 diferss & =i gan &7
(1) Hffaeme

() e

(3) RIS

(4) ChIEERITE
Options :

878270117621. 1
878270117622. 2
878270117623. 3

878270117624. 4

Question Number : 147 Question Id : 87827029861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
TP e, o e o T o e I el anfe & o 9 o e o a1 i 7E
¢/
(1) o, R, ferm
() e, T,
(3) W, IS T
(4 e, Fe, e
Options :
878270117625. 1
878270117626. 2
878270117627. 3

878270117628. 4



Question Number : 148 Question Id : 87827029862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I Ageoe | fe<di & sifafaa frg aron & gore #1 seo 772

(1) HU<Sl

(2) wfrgd
(3) T
(4) W
Options :

878270117629. 1
878270117630. 2
878270117631. 3

878270117632. 4

Question Number : 149 Question Id : 87827029863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I arpee o feedt @it fewh wurer o o i 1 e R e TR ?
(1) &=t v & | wifes U € A for=m et

) Tt e o ee iR Hae F uia fasrdv aer €|

(3) Tt wuret # gewa &R Sfeaa % uf emFme e ad g
(4) Tt et oferet § T SIga S §, THIS e S o |

Options :

878270117633. 1

878270117634. 2

878270117635. 3

878270117636. 4



Question Number : 150 Question Id : 87827029864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ITE HAJee H Uk ;%A & Sooid & | TH W & HTHN
(1) S IR Tael o R0 § g a7 wE S |
(2) T&=<t 1 a9/ AU B FArT FHH TR |
(3) el € e fEdt F wore § AL i % v ° e o
(4) Tl sAigrem gt a¥e et s |
Options :
878270117637. 1
878270117638. 2
878270117639. 3

878270117640. 4

Question Id : 87827029859 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



reforfis o &t s ufeu el waftm Wl o S it

fedt ot ot e o A o o et 0 o ) o W €1 7 o v o A
et SFATm €| WA S A ) & e ot e 7 o e o, foe, e, it ane
S e 7 T #7878 g ¢ 1 T TN Tt 7 awifoes, qefomrt, e a1 W 7 o e o
o v H9 8 g o T g A1 R N 7 R o S g o € 7 e €
el | 8 T 5 e 9 of o T 1 ek o e o e o AT feh &1 o5 T4 7] &
-l £

SR ST 3 e S o e o e e e o 5 e o R e o e 2
TS ] 1 T G A T PR € SR S o e ) o] e A A
¥ ferh s o e o o o Wi O 7 1 e S o S 9 € | SR Y ST
TR TEE| T forem # T T T © O 9 v oo T e fomn R oW 9 micaw
2 TR & 9T 0 ) i R ] ) - W o 7 S T T € i 3 e
a: 6 31 e ST TR A I e

fedh it e T g T &, O O S &1 U 0k 4 € 9 A 0 3 ey A e
T 11 3 T -7 6 G o T U 3 5 e g e & ol e G 9 e i
T e 70 % | Tk A S SR T o 3 W 4 € for fe o o 9 e W g
7 JFITe SH3H1 78] ¢ St SRt o fore e T 1 et § e, T, W e 4 ¥ g
1 Tufeafa R Fraiem wyE € 7 T | R 7 el [ T e ® R e g
e F Y PR R o AR R g A o ) € o R 6 o 6 4 R v o v

Sub questions

Question Number : 146 Question Id : 87827029860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST TR & oTER fe<t # fra fawg o1 wifers #1721 5o ©2
(1) Hffaemes
(2) HHLITE
(3) rEIIE
(4) T

Options :

878270117621. 1



878270117622. 2
878270117623. 3

878270117624. 4

Question Number : 147 Question Id : 87827029861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR e o A o T W e o7 e e 4 H T 1 e o 90 ) (e 598
¢

(1) e, iR, fetaa

2) RN, TS, e

3)  STHH, IS T

4) e, Fles, el

Options :

(
(
(

878270117625. 1
878270117626. 2
878270117627. 3

878270117628. 4

Question Number : 148 Question Id : 87827029862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IHF HTee H fet & sifafe frg s & Wt %1 3eer@ B 2

(1) W<l

(2) wforgd
(3) €A
(4) dme
Options :

878270117629. 1



878270117630. 2
878270117631. 3

878270117632. 4

Question Number : 149 Question Id : 87827029863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I arTee | fedt ok femh wure o 9 § i W e R Fel T e ?
(1) T&=t s o7t 7 wfecy Ut & 7 forerm Ui |

) Tt & # Fee oI wae % i fawdo aer

(3) Tet wmret # gewan &R Sfeaar % ufa smFme emeied ad ¢ |
(@) et ardt sferer § TS g S €, YU e S o |

Options :

878270117633. 1

878270117634. 2

878270117635. 3

878270117636. 4

Question Number : 150 Question Id : 87827029864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ITE STTes H Ueh g %1 3coid ¢ | 39 3% % 39N :
(1) S SR Fael o R0 § g 9% HE ST |

(2) T & aeg SUS 1 9ET FE T |
(3) ioar &t en f&d o TaAre | 7 Bt % us W @ o |
(4) &=t sricem g o femer smem |

Options :

878270117637. 1



878270117638. 2
878270117639. 3

878270117640. 4



